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Section Marks : 100
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Sub-Section Id : 710870477
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 71087014040 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which level of teaching, the learner gets an opportunity to discriminate at length between
positive and negative exemplars of concepts?

1. Memory level

2. Understanding level

3. Reflective level

4. Autonomous development level
Options :

71087055681. 1

71087055682. 2

71087055683. 3

71087055684. 4

Question Number : 1 Question Id : 71087014040 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087055681. 1
71087055682. 2
71087055683 3
71087055684. 4

Question Number : 2 Question Id : 71087014041 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
During teaching, a teacher's statements that encourage students to elaborate on an answer,
either their own or that of others will be called,

1. Structuring

2. Instructional variety

3. Engagement in the learning process
4. Probing

Options :

71087055685. 1

71087055686. 2

71087055687. 3

71087055688. 4

Question Number : 2 Question Id : 71087014041 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055685 1
71087055686. 2
71087055687. 3
71087055688. 4

Question Number : 3 Question Id : 71087014042 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following will be called behavioural rather than “attitude and beliefs" related
competencies for becoming an effective teacher?

A. Locus of control

B. Communicating

C. Managing and monitoring

D. Teacher enthusiasm

E. Evaluating and providing feedback

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. B, Cand E only
4.C, D and E only
Options :
71087055689. 1
71087055690. 2
71087055691. 3
71087055692. 4

Question Number : 3 Question Id : 71087014042 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HAAA, B 3R C
2. @A B, C3RD
3. ®adB, CARE
4.HIAC, D ARE
Options :
71087055689. 1
71087055690. 2
71087055691 3
71087055692. 4

Question Number : 4 Question Id : 71087014043 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the following list of methods of teaching used in institutions of higher learning, identify

those which are learner-centred

A. Project work

B. Chalk and talk

C. Lecturing with audio-visual

D. Computer-aided instruction

E. Simulation and role-playing

Choose the correct answer from the options given below:

1. B, C and D only
2. D and E only

3. A, Band Conly
4.C, D and E only
Options :
71087055693. 1
71087055694. 2
71087055695. 3
71087055696. 4

Question Number : 4 Question Id : 71087014043 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ®dd B, C 3R D
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3. @A A, B AR C
4.HaAC, D ARE
Options :
71087055693 1
71087055694. 2
71087055695. 3
71087055696. 4

Question Number : 5 Question Id : 71087014044 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

, : l. Percentile rank and standard scores are used
A. Formative Evaluation .
for reporting

B. Summative Evaluation |l. Standards indicative of mastery

C. Criterion-referenced test lll. The intention of using it is to identify scope
and potential for improvement

D. Norm-referenced test IV. Its intention is to judge learning standards

Choose the correct answer from the options given below:

TA-NLB-IV,C-1I,D-1
ZA-1L,B-1L,C-11,D-1IV
3A-ILB-1L,C-1V,D-1I
4 A-IV,B-1I, C-1,D-1
Options :

71087055697. 1
71087055698. 2
71087055699. 3
71087055700. 4

Question Number : 5 Question Id : 71087014044 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. A-lll, B-1V, C-1I, D-I
2. A-l, B-II, C-1II, D-1V
3. A-ll, B-I, C-IV, D-1I
4. A-IV, B-lI, C-1, D-II
Options :
71087055697. 1
71087055698. 2
71087055699. 3
71087055700. 4

Question Number : 6 Question Id : 71087014045 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In using the hypothetico-deductive research paradigm which of the following sequences is
considered appropriate?

1. Hypothesis making, Hypothesis testing, Arriving at generalization and Conclusion

2. Establishing a research problem, Hypothesis making, Hypothesis testing, Arriving at
generalization and Conclusion

3. Hypothesis making, Establishing a research problem, Hypothesis testing, Arriving at
generalization and Conclusion

4. Hypothesis testing, Hypothesis making, Finalizing the research problem, Arriving at
generalization and Conclusion

Options :

71087055701. 1
71087055702. 2
71087055703. 3
71087055704. 4

Question Number : 6 Question Id : 71087014045 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055701. 1

71087055702. 2




71087055703. 3
71087055704. 4

Question Number : 7 Question Id : 71087014046 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following research procedures will figure under post positivistic approach?

1. Normative survey
2. Experimental study
3. Ethnographic study
4. Ex post facto study
Options :
71087055705. 1
71087055706. 2
71087055707. 3
71087055708. 4

Question Number : 7 Question Id : 71087014046 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055705. 1
71087055706. 2
71087055707. 3
71087055708. 4



Question Number : 8 Question Id : 71087014047 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A college teacher plans a research programme in which he/she intends to improve the socio-
emotional aspect of his/her classroom climate during teaching. Which one of the following
research methods will be considered appropriate in this context?

1. Experimental method

2. Descriptive method

3. Historical method

4. Action research method
Options :

71087055709. 1
71087055710. 2
71087055711. 3
71087055712. 4

Question Number : 8 Question Id : 71087014047 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055709. 1
71087055710. 2



71087055711. 3
71087055712. 4

Question Number : 9 Question Id : 71087014048 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following steps in research are least vulnerable to research ethics?
A Identifying the research variables

B. Defining the research variables

C. Data collection procedure

D. Data analysis procedure

E. Reporting research outcomes

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. D and E only
Options :
71087055713. 1
71087055714.2
71087055715. 3
71087055716. 4

Question Number : 9 Question Id : 71087014048 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A 3R B
2. HaAAB AR C
3. ®ad C 3R D
4. HaAD ARE
Options :
71087055713 1
71087055714. 2
71087055715. 3
71087055716. 4

Question Number : 10 Question Id : 71087014049 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The personalistic styles of writing a research report are permissible in which of the following
research?

A. Grounded theory research

B. Experimental research

C. Participant-observation based research

D. Historical research

E. Case study research

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, Cand E only
Options :
71087055717. 1
71087055718. 2
71087055719. 3
71087055720. 4

Question Number : 10 Question Id : 71087014049 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Bad A, B 3R C
2. Pad B, C 3R D
3. AU C, D 3R E
4, BT A, C 3R E
Options :
71087055717 1
71087055718. 2
71087055719. 3
71087055720. 4

Sub-Section Number : 2
Sub-Section Id : 710870478
Question Shuffling Allowed : Yes

Question Id : 71087014050 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension



Read the passage carefully and answer the questions that follow

More generally, today's business-to-business marketers are using a wide range of digital and
social marketing approaches from websites, blogs, and smartphone apps to mainstream social
networks such as Facebook, Linkedln, Youtube, and Twitter to reach business customers and
manage customer relationships anywhere, anytime. Digital and social marketing has rapidly
become the new space for engaging business customers. Business-to-business e-procurement
yields many benefits. First, it shaves transaction costs and results in more efficient purchasing
for both buyers and suppliers. E-procurement reduces the time between order and delivery.
And a Web-powered purchasing program eliminates the paperwork associated with traditional
requisition and ordering procedures and helps an organization keep better track of all
purchases. Finally, beyond the cost and time savings, e-procurement frees purchasing people
from a lot of drudgery and paperwork. In turn, it frees them to focus on more strategic issues,
such as finding better supply sources and working with suppliers to reduce costs and develop
new products.

The rapidly expanding use of e-procurement, however, also presents some problems. For
example, at the same time that the Internet makes it possible for suppliers and customers to
share business data and even collaborate on product design, it can also erode decades-old
customer-supplier relationships. Many buyers now use the power of the Internet to pit
suppliers against one another and search out better deals, products, and turnaround times on
a purchase-by-purchase basis.

E-procurement can also create potential security concerns. Although home shopping
transactions can be protected through basic encryption, the secure environment that
businesses need to carry out confidential interactions is sometimes still lacking.

Sub questions

Question Number : 11 Question Id : 71087014051 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

What is the current strategy of business to business managers?

1. Searching for new business space

2. Exploring new customer relations

3. Less dependence on social marketing
4. More and more use of digital business
Options :

71087055721. 1

71087055722. 2

71087055723. 3

71087055724. 4

Question Number : 12 Question Id : 71087014052 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The benefits of e-procurement are

A. Cost reduction

B. Quick delivery

C. Longer time for strategic procurement

D. Empathetic purchase

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087055725. 1



71087055726. 2
71087055727. 3
71087055728. 4

Question Number : 13 Question Id : 71087014053 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What can be a strategic issue as a result of less paperwork?

1. Transaction analysis

2. More investment for supply

3. Development of new products

4. Importance to traditional customer relation
Options :

71087055729. 1

71087055730. 2

71087055731. 3

71087055732. 4

Question Number : 14 Question Id : 71087014054 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What can be the main issue with e-procurement vis-a-vis power of Internet?

1. Different purchases for both buyers and suppliers
2. Sharing business data with customers

3. Competitive supply of products

4. Better purchase deals

Options :

71087055733. 1

71087055734. 2

71087055735. 3

71087055736. 4



Question Number : 15 Question Id : 71087014055 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The focus of the passage is on

1. The power of suppliers

2. Basic business data encryption

3. The supply side of business

4. The critical features of e-procurement
Options :

71087055737. 1

71087055738. 2

71087055739. 3

71087055740. 4

Question Id : 71087014050 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 71087014051 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



IIforT T aTfoTed i 9 TG+ ard UeH®! &1 gaHT- WUHITS ol 82

1. ¢ 49T Hd &I @ BT

2. U Il TEEf DI G S

3. GiEre faUUH WR SfUEdhd & R

4. T&olled aaam &1 U 9 1f¥a uan
Options :

71087055721. 1

71087055722. 2

71087055723. 3

71087055724. 4

Question Number : 12 Question Id : 71087014052 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
U AH G :
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el fdd e &1 98 DIfo :

1. Hdd A X B
2. ®Had B AR C
3. ®dd C 3R D
4. HadA AR D
Options :
71087055725. 1
71087055726. 2




71087055727. 3
71087055728. 4

Question Number : 13 Question Id : 71087014053 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055729. 1

71087055730. 2

71087055731. 3

71087055732. 4

Question Number : 14 Question Id : 71087014054 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055733. 1

71087055734 2

71087055735. 3

71087055736 4




Question Number : 15 Question Id : 71087014055 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Hyhe [Py ad W aa e g 2
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Options :

71087055737. 1

71087055738. 2

71087055739. 3

71087055740. 4

Sub-Section Number : 3
Sub-Section Id : 710870479
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 71087014056 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In communication process, when the sender and the receiver interchange their roles in respect
of sending and receiving the message, it is called

1. Universal model

2. Transactional model
3. Singular-flow model
4, Pluralistic model
Options :

71087055741. 1
71087055742. 2
71087055743. 3



71087055744. 4

Question Number : 16 Question Id : 71087014056 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087055741. 1
71087055742. 2
71087055743. 3
71087055744, 4

Question Number : 17 Question Id : 71087014057 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A teacher who encourages students’ participation in communication will ensure
A. Opposite views

B. Self-esteem

C. Class performance

D. Professional development

E. Binary distractions

Choose the correct answer from the options given below:

1. A, B and C only
2. A, CandE only
3.B,Cand D only
4. A, Dand E only
Options :
71087055745. 1
71087055746. 2
71087055747. 3
71087055748. 4

Question Number : 17 Question Id : 71087014057 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HAAA, B 3R C
2. HAAA, CHRE
3. ®aAB, C3RD
4. HAAA, D ARE
Options :
71087055745, 1
71087055746. 2
71087055747. 3
71087055748, 4

Question Number : 18 Question Id : 71087014058 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: In group discussions, some participants enter the fray with big chips on their
shoulders

Reason R: These are antagonistic people who are calm and listed

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087055749. 1

71087055750. 2

71087055751. 3

71087055752. 4

Question Number : 18 Question Id : 71087014058 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I & Py U TE B - U 1 3ifHiape (A) 3R G @1 b (R) P61 I ;
HYDHYA (A) : FHE Td1 H $S UgHFN I3 - gt dld dRd & |

dd (R) : T it @0 81d & =il 2Mid SR ufaarg! 8id &

SUYdd Bl B el H Fgiied [deedl H U Halfte Juged S 94 -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) ¥R (R) GHI T8I B &R (R), (A) DI Tl SREAT 6l 3|
3. (A) 9BI 8 U (R) el &l B

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087055749. 1

71087055750. 2

71087055751. 3

71087055752. 4

Question Number : 19 Question Id : 71087014059 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Communication Barrier Description

A, Physical |. Different understanding
B. Psychological Il. Stereotypes

C. Language lll. Pre-disposed notions
D. Cultural IV. Inaudible voice

Choose the correct answer from the options given below:

TA-IV,E-N,C-1,D-I
2ZA-ILB-IL,C-1V,D-1
SA-ILB-1L,C-NILD-1V
4A-LB-ILC-1ILD-1V
Options :

71087055753. 1
71087055754. 2
71087055755. 3
71087055756. 4

Question Number : 19 Question Id : 71087014059 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gali-1 Dl Fali-11 & oy GAferd o :

gal-| ql-1i

GO ST ICERI

A. RIS REGUEEE]

B. HHIGTI® 1. Tfcag YR
C. HTST Gadi 11. Id Wgd 4RO
D. HiEhidd V. 3T HTdTS
I feu U fashedl © O gel 3R &1 98- & -

1. A-1V, B-1ll, C-1, D-I
2. AL B-1I, C-1V, D-I
3. A-ll, B-1, C-lII, D-1V
4. A-l, B-lI, C-lI, D-1V
Options :
71087055753. 1
71087055754. 2
71087055755. 3
71087055756. 4

Question Number : 20 Question Id : 71087014060 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



When communication for educational purpose takes place, the sequence of elements is
A. Source

B. Encoder

C. Message

D. Decoder

E. Feedback

Choose the correct answer from the options given below

1.A B CD,E
2B CDEA
3.CD,EAB
4.D,E B A C
Options :

71087055757. 1
71087055758. 2
71087055759. 3
71087055760. 4

Question Number : 20 Question Id : 71087014060 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e Q&MU TS g WHINYI BIdT § ol U<l Bl HHBIAI 8 :
A, Fid

B. B¢ qifad

C. T

D. fadis®

£ Bigad®

i f&u U faeedl # @ Uel I &1 98- B -

1.A,B,C,D3RE
2.B,C D, E3RA
3.C, D, E A3JRB
4.D,E B, A3RC
Options :
71087055757. 1
71087055758. 2
71087055759. 3
71087055760. 4

Question Number : 21 Question Id : 71087014061 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A man walks at a speed of 3 km/hour from location A towards east for 1 hour and then turning
left walks at a speed of 1.5 km/hour for 6 hours towards north to a location B. The shortest
distance between locations A and B is

1. 10 km

2. 12 km

3. ~8.54 km
4, ~9.48 km
Options :
71087055761. 1
71087055762. 2
71087055763. 3
71087055764. 4

Question Number : 21 Question Id : 71087014061 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ueh oHfekd I A 9 3 T 9e1 71fd O qRa = # 1 9¢ qob doidl & 99l 39 d1g a1 S 1.5
b 51,/ g1 &1 71 Y IR G2 DI 3R 6 e T ™M B b daidl &1 ®H A 3R B & did i
FaH g & -

1. 10 T Al

2. 12 fp .
3.~ 854 fhdl
4. ~ 9.48 fp oI,
Options :
71087055761. 1
71087055762. 2
71087055763. 3
71087055764. 4

Question Number : 22 Question Id : 71087014062 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The volume of a cube of side 10.0 cm is changed by increasing its sides by 1.0%. The
percentage increase in the volume of the cube is

1. ~1%
2. ~6%
3.~3%
4. ~ 10 %
Options :

71087055765. 1
71087055766. 2
71087055767. 3
71087055768. 4

Question Number : 22 Question Id : 71087014062 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

10.0 AT BT YT dIci U U B G ST Y3 bl 1.0 % ToIdhR dad ol oldl o | 39 9

© gd- | ula=d 3fs g -
1. ~1%
2.~ 6%
3.~3%
4. ~10%
Options :

71087055765. 1
71087055766. 2
71087055767. 3
71087055768. 4



Question Number : 23 Question Id : 71087014063 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Consider the following number series 2, 10, 30, 68, X

What is the term X7

1. 130

2. .92

3.88

4.76

Options :
71087055769. 1
71087055770. 2
71087055771. 3
71087055772. 4

Question Number : 23 Question Id : 71087014063 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ofafag den o1 ) fGaR &
210, 30, 68, X
X @1 HH TR 2

1. 130

2.92

3.88

4.76

Options :
71087055769. 1
71087055770. 2



71087055771. 3
71087055772. 4

Question Number : 24 Question Id : 71087014064 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A household Incurs a certain expenditure on the consumption of a commodity in a given
month. If the price of the commodity is decreased by 20% and its consumption is increased by
20%, what will be the net percent increase or decrease in the expenditure of the household?

1. 2%

2. 4%

3. 8%

4. 10%
Options :
71087055773. 1
71087055774. 2
71087055775. 3
71087055776. 4

Question Number : 24 Question Id : 71087014064 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U3 URAR Us A8 99N H U% a%g & SUaRT IR &idud o0 &l | 3fc 39 a%g @1 H1Ad 20%
T WAl & AR d%] ®I UGN 20% d¢ Idl & df 39 URaR & &g ¥ fova- ufa=id &1 sglall
Gl HH| 8T 7

1. 2%

2. 4%

3. 8%

4. 10%
Options :



71087055773. 1
71087055774. 2
71087055775. 3
71087055776. 4

Question Number : 25 Question Id : 71087014065 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Consider the following letter series. What is next of acf, egj, ikn, ogt,

1. suy

2. uvy

3. rwz

4 uwz
Options :
71087055777. 1
71087055778. 2
71087055779. 3
71087055780. 4

Question Number : 25 Question Id : 71087014065 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fafaRad quf #49 R 3gR SIS ATy @ g 2

acf, eqi, ikn, oqt, ___

1. suy

2. uvy

3. rwz

4 uwz
Options :
71087055777. 1



71087055778. 2
71087055779. 3
71087055780. 4

Question Number : 26 Question Id : 71087014066 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two propositions:

All philosophers are fallible

Socrates is not fallible

In the classical square of opposition, which one of the following is the correct answer?

1. Contrary

2. Contradictory
3. Subalteration
4. Subcontrary
Options :
71087055781. 1
71087055782. 2
71087055783. 3
71087055784. 4

Question Number : 26 Question Id : 71087014066 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e &l a arg fau MU B -

ot erife waRia B & |

YT YA Tl g |

foTy & Fenfa®! avt § Fufafed 3 3 oH-91 98 W B

1. e

2. faemyTt
3. 3UIfsd

4. 3u-fazreh
Options :
71087055781. 1
71087055782. 2
71087055783. 3
71087055784. 4

Question Number : 27 Question Id : 71087014067 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below is a proposition:
‘Mahatma Gandhi is called father of Nation'.
What kind of classical categorical proposition is it?

1. Universal affirmative
2. Particular affirmative
3.Both 1 and 2

4. Neither 1 nor 2
Options :

71087055785. 1



71087055786. 2
71087055787. 3
71087055788. 4

Question Number : 27 Question Id : 71087014067 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Il U ddare fea T g ;

 HETH i B AP el S B

7% Fofated & § oy IR &1 aenfas! FRUg ahare § 2

1. gray iy fGerd®

2. fafey faurars

3.1 3R 2 gH

4.1 3R 2 A Ple o T8
Options :

71087055785. 1
71087055786. 2
71087055787. 3
71087055788. 4

Question Number : 28 Question Id : 71087014068 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following pramanas are accepted by Vaisheshika philosophy?
A. Pratyasha

B. Anumana

C. Sabda

D. Upamana

E. Arthapatti

F. Anupalabdhi

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3.Eand F only
4. Cand E only
Options :
71087055789. 1
71087055790. 2
71087055791. 3
71087055792. 4

Question Number : 28 Question Id : 71087014068 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFafeiad # 94 ®H-9 uA 9t o2F H WioR U e § 2

FafaRad & 9 98! SO &1 994 i :

1. Had A 3R B
2. ®ad C 3R D
3. HAAE 3R F
4. HaAC IARE
Options :
71087055789. 1
71087055790. 2
71087055791 3
71087055792. 4

Question Number : 29 Question Id : 71087014069 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are accepted in Buddhism?

A. Adhyasa

B. Apoha

C. Abhava

D. Arthapatti

E. Pratyaksha

F. Sabda

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3.B and E only
4. E and F only
Options :
71087055793. 1
71087055794. 2
71087055795. 3
71087055796. 4

Question Number : 29 Question Id : 71087014069 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



dig 4 | FafaRed # 9 fo-1ol WieR fearwidaig 2

AL SETH

3. 3{UIE

C. 3{H1d

D. YUk

E. Ue

F. TMoG

FafeRad fasmedl # ¥ UE1 3Tk B I8 DI :

1. Had A 3R B
2. ®ad C 3R D
3. ®HaaB AR E
4 HAAE AR F
Options :
71087055793 1
71087055794. 2
71087055795. 3
71087055796. 4

Question Number : 30 Question Id : 71087014070 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the nature of a logical argument? Choose the correct answer from the following:

1. Justified or unjustified

2. True or false

3. Valid or invalid

4, Verifiable or not verifiable

Options :

71087055797. 1
71087055798. 2
71087055799. 3
71087055800. 4

Question Number : 30 Question Id : 71087014070 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

dbETTd gida @1 UG &1 gldl ¢ 7 MaikiRgd & 9 981 3wk &1 984 Dy ;

1. "Oid 3R TR - AEid
2. TR g1 TTed

3. 39 41 33y

4, YUY 3HYdl G-
Options :

71087055797. 1
71087055798. 2
71087055799. 3
71087055800. 4

Sub-Section Number : 4
Sub-Section Id : 710870480
Question Shuffling Allowed : Yes

Question Id : 71087014071 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension



Questions : No
Question Numbers : (31 to 35)
Question Label : Comprehension

Answer the question based on the data contained in the table

The following table embodies the data on vegetable produced year wise in tonne for a
particular district.

Year\Vegetable Potato Tomato Onion
2074 200 50 300
2015 500 70 200
2016 300 40 100
2017 100 80 400
2018 700 70 500
2019 800 a0 600

Sub questions

Question Number : 31 Question Id : 71087014072 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In which year(s) the production of potato is less than that of average production?
A 2016

B. 2014

C. 2015

D. 2017

Choose the correct answer from the options given below

1. A and B only

2. A, B and D only
3. C only

4. Cand D only

Options :

71087055801. 1
71087055802. 2
71087055803. 3
71087055804. 4

Question Number : 32 Question Id : 71087014073 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which year(s) is the production of tomato the least?

1. 2014
2.2017
3. 2019
4. 2016
Options :



71087055805. 1
71087055806. 2
71087055807. 3
71087055808. 4

Question Number : 33 Question Id : 71087014074 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the gross production of vegetables in the year 20187

1. 1270

2. 1275

3. 1260

4. 1280
Options :
71087055809. 1
71087055810. 2
71087055811. 3
71087055812. 4

Question Number : 34 Question Id : 71087014075 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the increase (in percentage) of the total production of vegetable from the year 2018 to
20197

1. 15.7%
2. 16.1%
3. 19.4%
4, 17.2%
Options :
71087055813. 1
71087055814. 2



71087055815. 3
71087055816. 4

Question Number : 35 Question Id : 71087014076 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which year the productivity of vegetable is maximum?

1. 2018

2. 2016

3. 2019

4. 2017
Options :
71087055817. 1
71087055818. 2
71087055819. 3
71087055820. 4

Question Id : 71087014071 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehension



frrafafaa aiftre # fFt e fade & sanfea aferat 1t am @ &) S&<dt adfar siwer
fora mar &1 TfereT & U 7T o & SyYR WX uyi 3 Iy it

ay / el T AR B
2014 200 50 300
2015 500 70 200
2016 300 40 100
2017 100 80 400
2018 700 70 500
2019 200 20 &00

Sub questions

Question Number : 31 Question Id : 71087014072 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



forg qu / o1 aul H 1] BT IUTGA IHD G IdIe 8 BH a1 2
A, 2016
B. 2014
C. 2015

D. 2017
e fwea T

1. Had A 3R B
2. AU A, B, D
3. ®adC

4. Had C AR D
Options :
71087055801. 1
71087055802. 2
71087055803 3
71087055804. 4

Question Number : 32 Question Id : 71087014073 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fg g THIEY & JdIe 998 BH 8 ?

1. 2014
22017
3.2019

4. 2016
Options :
71087055805. 1
71087055806. 2



71087055807. 3
71087055808. 4

Question Number : 33 Question Id : 71087014074 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
a4 2018 H Gieadl BT bd G [l g ?

1. 1270

2. 1275

3. 1260

4. 1280
Options :
71087055809. 1
71087055810. 2
71087055811. 3
71087055812. 4

Question Number : 34 Question Id : 71087014075 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
a9 2018 DI UM TY 2019 H Gleardl & Hal SdIGH H fbd- Widd 1 3fS g 2

1. 15.7 %
2.16.1 %
3.194 %
4.17.2 %
Options :
71087055813. 1
71087055814. 2
71087055815. 3
71087055816. 4



Question Number : 35 Question Id : 71087014076 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frd ad & Heofl BT JAIGH I Halldd ¢ 2

1. 2018

2. 2016
3.2019

4. 2017
Options :
71087055817. 1
71087055818. 2
71087055819. 3
71087055820. 4

Sub-Section Number : 5
Sub-Section Id : 710870481
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 71087014077 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the full form of the abbreviation CD.ROM?

1. Count Disk Random Only Memory
2. Compact Disk Run Only Memory
3. Compact Disk Read Only Memory
4. Count Disk Raw Only Memory
Options :

71087055821. 1

71087055822. 2

71087055823. 3

71087055824. 4



Question Number : 36 Question Id : 71087014077 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T&U1ER CD-ROM ST R AH F1 5 ?

1. Count Disk Random Only Memory
2. Compact Disk Run Only Memory
3. Compact Disk Read Only Memory
4. Count Disk Raw Only Memory
Options :

71087055821. 1

71087055822. 2

71087055823. 3

71087055824. 4

Question Number : 37 Question Id : 71087014078 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Multimedia comprises of

1. Text and Audio

2. Video and Audio

3. Video only

4, Text, Audio and Video
Options :

71087055825. 1
71087055826. 2
71087055827. 3
71087055828. 4

Question Number : 37 Question Id : 71087014078 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
A HIST H Ueh & -

1. SR 3R il

2. difegar 3R Aitsal

3. ®ad difsdl

4, de, Hifsal AR difsal
Options :

71087055825. 1
71087055826. 2
71087055827. 3
71087055828. 4

Question Number : 38 Question Id : 71087014079 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Information and Communication Technology (ICT) comprises of
A. Online learning

B. Learning through Mobile Application

C. Web based learning

D. All the above

Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3. D only
4. A only
Options :



71087055829. 1
71087055830. 2
71087055831. 3
71087055832. 4

Question Number : 38 Question Id : 71087014079 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

G SR UaR et (og df &) H /ibe g -

A 3Hars A
5. AR HTHRH & J1ed U ey
C. aF YT R

D. Iudad it
el f[ddhed &1 999 Bl -

1. Had A 3R B
2. @A A AR C
3. ®ad D

4. Had A
Options :
71087055829. 1
71087055830. 2
71087055831. 3
71087055832. 4

Question Number : 39 Question Id : 71087014080 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: E-commerce companies require personal data to serve the stakeholders better
Reason R: In this process, privacy may get compromised

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087055833. 1

71087055834. 2

71087055835. 3

71087055836. 4

Question Number : 39 Question Id : 71087014080 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|
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Options :

71087055833. 1

71087055834. 2

71087055835. 3

71087055836. 4

Question Number : 40 Question Id : 71087014081 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Python is a/an

A. Programming language

B. Operating system

C. Search engine

D. Snake

Choose the correct answer from the options given below:

1. B only

2. A only

3.B and C only
4. Cand D only
Options :
71087055837. 1
71087055838. 2
71087055839. 3
71087055840. 4

Question Number : 40 Question Id : 71087014081 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



‘Python’ T __ B
A. TR citder

B. ORI FoeA
C. 99 391

D. @®
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1. 5 B
2. Had A
3. ®HaAAB AR C
4. %ad C AR D

Options :

71087055837. 1
71087055838. 2
71087055839. 3
71087055840. 4

Question Number : 41 Question Id : 71087014082 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of continents in decreasing order of their yearly carbon dioxide
emissions, at present

A. Africa

B. Asia

C. Europe

D. North America

Choose the correct answer from the options given below

1.B,D A C
2B D CA
3.D,B,C A
4.D,C B A
Options :
71087055841.
71087055842.
71087055843.
71087055844.

AW O~

Question Number : 41 Question Id : 71087014082 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.B,D A C
2B D CA
3.D,B,C A
4.D,C B A
Options :

71087055841.
71087055842.
71087055843.
71087055844.

AW O~

Question Number : 42 Question Id : 71087014083 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Millennium Development Goals of Global Partnership for Development envisaged making
available the benefits of new technologies - especially which of the following?

1. Information and Communication
2. Artificial Intelligence

3. Nuclear technology

4. Solid waste treatment technology
Options :

71087055845. 1

71087055846. 2

71087055847. 3

71087055848. 4

Question Number : 42 Question Id : 71087014083 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055845. 1
71087055846. 2
71087055847. 3
71087055848. 4

Question Number : 43 Question Id : 71087014084 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The global emissions (by weight) of following primary pollutants from natural sources are
maximum in the case of

1. Nitric oxide

2. Carbon monoxide
3. Methane

4, Carbon dioxide
Options :
71087055849. 1
71087055850. 2
71087055851. 3
71087055852. 4

Question Number : 43 Question Id : 71087014084 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Uipla® gl @ Fafifad § 3 feg mufie ughe o1 3fe SoeH (MR &1 2fF 9) Faffis g
87

1. ABCH SRS

2. e AFIFEES
3. HiUE

4, TE- SEHTES
Options :
71087055849. 1
71087055850. 2
71087055851 3
71087055852. 4

Question Number : 44 Question Id : 71087014085 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List Il which contain water pollutants and their sources respectively

List | List 11

Water pollutants Sources

A. Oxygen demanding wastes |l. Mine drainage

Il. Modern washing powders and agriculture run-off
B. Plant nutrients

C. Acids lll. Waste incineration and toxic dumps

D. Polychlorinated
biphenyls(PCBs)

Choose the correct answer from the options given below:

IV. Paper mills and food processing units

TA-IV,E-U,C-1l,D-1
2ZA-IVB-LC-II,D-1
SA-IVB-ILC-1,D-1
4 A-IVB-IIILC-1,D-1
Options :

71087055853. 1
71087055854. 2
71087055855. 3
71087055856. 4

Question Number : 44 Question Id : 71087014085 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-IV,B-1,C-1I,D-1
2ZA-IV,B-1,C-1I,D-1
3A-IV,B-1I,C-1,D-1I
4 A-IV,B-NIL,C-1,D-1
Options :

71087055853. 1
71087055854. 2
71087055855. 3
71087055856. 4

Question Number : 45 Question Id : 71087014086 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Despite increasing vulnerability to natural disasters many communities resist
adopting mitigation programmes and measures

Reason R: Mitigation is often perceived by communities as being incompatible with their
cultural practices

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087055857. 1

71087055858. 2

71087055859. 3

71087055860. 4

Question Number : 45 Question Id : 71087014086 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. (A) 981 & TR (R) ¥ol T &

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087055857. 1

71087055858. 2

71087055859. 3

71087055860. 4

Question Number : 46 Question Id : 71087014087 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The first open university in India was established in the year

1. 1980

2. 1982

3. 1985

4. 1986
Options :
71087055861. 1
71087055862. 2
71087055863. 3
71087055864. 4



Question Number : 46 Question Id : 71087014087 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1980

1982

1985

1986
Options :
71087055861. 1
71087055862. 2
71087055863. 3
71087055864. 4
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Question Number : 47 Question Id : 71087014088 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Asynchronous communication takes place through which of the following technologies?
A. Teleconferencing

B. Virtual classroom

C. Video chat

D. Blogs

E. Discussion boards

F. Vlog

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.D, Eand F only
4.C, D and E only
Options :
71087055865. 1
71087055866. 2
71087055867 3
71087055868. 4

Question Number : 47 Question Id : 71087014088 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Bad A, B 3R C
2. Pad B, C 3R D
3. PAAD, E 3R F
4. H3AC, DIARE
Options :
71087055865. 1
71087055866. 2
71087055867. 3
71087055868. 4

Question Number : 48 Question Id : 71087014089 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

Stages of value development Exemplification of value formation

, . Choosing and imbibing the values one
A. Stage | - Value collection ,
cherishes

ll. Observing and imitating the adult
B. Stage Il - Value assessment . .
behaviours, particularly parents

C. Stage Il - Value clarification lIl. Predictability of human behaviour is assured
D. Stage IV - Value consclidation IV. Finding out gaps in values preached and
practice

Choose the correct answer from the options given below:

TA-ILBE-IWV, C-1I,D-I
2ZA-IVB-NIL,C-I,D-1
SA-ILB-1L,C-1V,D-1I
4 A-ILB-ILC-1,D-1IV
Options :

71087055869. 1
71087055870. 2
71087055871. 3
71087055872. 4

Question Number : 48 Question Id : 71087014089 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-IV,C-1I,D-1
2ZA-IV,B-NILC-1,D-1I
3A-ILB-1L,C-1V,D-1I
4 A-ILB-1I,C-1,D-1IV
Options :

71087055869. 1
71087055870. 2
71087055871. 3
71087055872. 4

Question Number : 49 Question Id : 71087014090 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements related to the Upanishadic tradition
Statement I: Paravidya means knowledge that transcends human experience
Statement Il: Aparavidya means knowledge based on the human experience

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

71087055873. 1

71087055874. 2

71087055875. 3

71087055876. 4

Question Number : 49 Question Id : 71087014090 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055873. 1
71087055874. 2
71087055875. 3
71087055876. 4

Question Number : 50 Question Id : 71087014091 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following Entries of the Indian Constitution deals with coordination and
determination of standards in institutions for higher education or research or scientific and
technical institutions?

1. Entry 63

2. Entry 64

3. Entry €5

4, Entry 66
Options :
71087055877. 1
71087055878. 2
71087055879. 3
71087055880. 4

Question Number : 50 Question Id : 71087014091 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Uidf¥ 63

2. Uidiy 64

3. U4y 65

4. Uiy 66
Options :
71087055877. 1
71087055878 2
71087055879. 3
71087055880. 4

PART II Tribal and Regional Language Literature

Section Id : 710870296
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870482
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 71087014092 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



How many types of racial elements are found in Indian tribes?

1. 4

2.5

3.3

4.6

Options :
71087055881. 1
71087055882. 2
71087055883. 3
71087055884. 4

Question Number : 51 Question Id : 71087014092 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

YROY Salfadl & fd- PR & Uaaiy dd U 9d & ?

1.4

2.5

3.3

4.6

Options :
71087055881. 1
71087055882. 2
71087055883. 3
71087055884. 4

Question Number : 52 Question Id : 71087014093 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Verrier Elwin has classified Indian tribes on the basis of culture in how many categories?

1. 4

2.6

3.7

4.5

Options :
71087055885. 1
71087055886. 2
71087055887. 3
71087055888. 4

Question Number : 52 Question Id : 71087014093 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.4

2.6

3.7

4.5

Options :
71087055885. 1
71087055886. 2
71087055887. 3
71087055888. 4

Question Number : 53 Question Id : 71087014094 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following phrases is NOT related to a tribe?

1. Forest tribe

2. Wild tribe

3. Bhudan tribe
4, Primitive tribe
Options :
71087055889. 1
71087055890. 2
71087055891. 3
71087055892. 4

Question Number : 53 Question Id : 71087014094 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fFrifed & @ 91 e Seid T Frfd 1816 2

1. G

2. 9 SIfd

3. Yo SIfd
4. 31feH Sfd
Options :
71087055889. 1
71087055890. 2
71087055891. 3
71087055892. 4

Question Number : 54 Question Id : 71087014095 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following options is incorrect?

1. Husband-wife based genealogical family
2. Mother-father based genealogical family
3. Patrilineal Family

4. Matrilineal Family

Options :

71087055893. 1

71087055894. 2

71087055895. 3

71087055896. 4

Question Number : 54 Question Id : 71087014095 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g ®H W ad 9@ g ?

1. Ufd-Uet 921 uRar
2. TUg-A1g 9= uRar
3. furgasig uRar

4, A9 UiaRr
Options :

71087055893. 1
71087055894. 2
71087055895. 3
71087055896. 4

Question Number : 55 Question Id : 71087014096 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is NOT the objective of literature?

1. Practical knowledge

2. Knowledge that provokes violence
3. Transcendental bliss

4. Interesting and pleasant sermon
Options :

71087055897. 1

71087055898. 2

71087055899. 3

71087055900. 4

Question Number : 55 Question Id : 71087014096 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087055897. 1
71087055898. 2
71087055899. 3
71087055900. 4

Question Number : 56 Question Id : 71087014097 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In Hindi, the word “Yamak' means

1. Two

2. Four

3. Six

4. Eight
Options :
71087055901. 1
71087055902. 2
71087055903. 3
71087055904. 4

Question Number : 56 Question Id : 71087014097 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Bel o 9H® et D131 & -
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3.6 (3g)

4. 8 (19)
Options :
71087055901. 1
71087055902. 2
71087055903. 3
71087055904. 4

Question Number : 57 Question Id : 71087014098 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is NOT a kind of 'Kavyadosha'?

1. Shabdadosha
2. Arthadosha

3. Rasadosha

4. Vlyarthadosha
Options :
71087055905. 1
71087055906. 2
71087055907. 3
71087055908. 4

Question Number : 57 Question Id : 71087014098 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fifehd 5 11 4 BIUaly & He 8l 6 2

1. 9 GIY

2. 3 gy
3.3WqN

4. d gy
Options :
71087055905. 1
71087055906. 2
71087055907. 3
71087055908. 4

Question Number : 58 Question Id : 71087014099 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In how many categories ‘Shabda Shakti' has been divided?

1.2

2.4

3.5

4.3

Options :
71087055909. 1
71087055910. 2
71087055911. 3
71087055912. 4

Question Number : 58 Question Id : 71087014099 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.2

2. 4

3.5

4.3

Options :
71087055909. 1
71087055910. 2
71087055911. 3
71087055912. 4

Question Number : 59 Question Id : 71087014100 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Basically, the total number of ‘Rasas’ is:

2. 11

3.8

Options :
71087055913. 1
71087055914. 2
71087055915. 3
71087055916. 4

Question Number : 59 Question Id : 71087014100 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055913. 1
71087055914. 2
71087055915. 3
71087055916. 4

Question Number : 60 Question Id : 71087014101 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who amongst the following scholars is credited to have comprehensively studied the
migration?

1. Hoffman

2. P.O. Bodding
3. S.C. Roy

4. Risley
Options :
71087055917. 1
71087055918. 2
71087055919. 3
71087055920. 4

Question Number : 60 Question Id : 71087014101 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. BB
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FREER
Options :
71087055917. 1
71087055918. 2
71087055919. 3
71087055920. 4

Question Number : 61 Question Id : 71087014102 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In which village Telanga Kharia was born?

1. Ataria

2. Nagfeni

3. Karounda
4. Murgu
Options :
71087055921. 1
71087055922. 2
71087055923. 3
71087055924. 4

Question Number : 61 Question Id : 71087014102 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Herfadn
2. ARTHAT
3. @Gl

4.7

Options :
71087055921. 1
71087055922. 2
71087055923. 3
71087055924. 4

Question Number : 62 Question Id : 71087014103 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Where did the Ho tribals settle first?

1. Kolhan

2. Podahat

3. Ghatshila

4, Saranda
Options :
71087055925. 1
71087055926. 2
71087055927. 3
71087055928. 4

Question Number : 62 Question Id : 71087014103 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TauYH Bl St [ g &7 H 3H a4 7

1. BleH

2. UIgTeTe

3. IIefRIa

4, R3]
Options :
71087055925. 1
71087055926. 2
71087055927. 3
71087055928. 4

Question Number : 63 Question Id : 71087014104 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



To which of the following communities, Nilamber- Pitamber belong?

1. Chero

2. Kherwar

3. Bhogta

4. Birajia
Options :
71087055929. 1
71087055930. 2
71087055931. 3
71087055932. 4

Question Number : 63 Question Id : 71087014104 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

rereR-UdreR foy JHe 9 i o ?

1. <RI

2. TWRAR

3. 4Tl

4, TeRfomn
Options :
71087055929. 1
71087055930. 2
71087055931. 3
71087055932. 4

Question Number : 64 Question Id : 71087014105 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Sheikh Pahalwan, the father of Sheikh Bhikhari was the landlord of how many villages?

1.12

2. 15

3.18

4. 14

Options :
71087055933. 1
71087055934. 2
71087055935. 3
71087055936. 4

Question Number : 64 Question Id : 71087014105 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g-firgrdl & fiar Ie-ugaar oo id & SHigR U 2

1. 12

2. 15

3.18

4. 14

Options :
71087055933. 1
71087055934. 2
71087055935. 3
71087055936. 4

Question Number : 65 Question Id : 71087014106 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In which year was Thakur Vishwanath Shahdeo hanged?

1. 1853

2. 1855

3. 1857

4. 1858
Options :
71087055937. 1
71087055938. 2
71087055939. 3
71087055940. 4

Question Number : 65 Question Id : 71087014106 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

B1P A%y WMeed ®f [ a9 BIg! &1 T3 ?

1. 1853

2. 1855

3. 1857

4. 1858
Options :
71087055937. 1
71087055938. 2
71087055939. 3
71087055940. 4

Question Number : 66 Question Id : 71087014107 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Shifting cultivation belongs to which one of the following systems of cultivation?

1. Permanent cultivation system

2. Temporary cultivation system

3. A system pertaining to hunting and food gathering
4. Animal husbandry and tenancy system

Options :

71087055941. 1

71087055942. 2

71087055943. 3

71087055944. 4

Question Number : 66 Question Id : 71087014107 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

I P (Y TR HIAH & 2

1. T Y TG

2. U Py

3. RHR U4 WE-grEdl U @3 & Aa]
4, UR[-UTH Ud BIRaH R] Ha=l

Options :

71087055941. 1

71087055942 2

71087055943. 3

71087055944. 4

Question Number : 67 Question Id : 71087014108 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Bhumij tribe belongs to which one of the following language families?

1. Austric family

2. Dravid family

3. Sinc-Tibetan family
4. Aryan family
Options :
71087055945. 1
71087055946. 2
71087055947. 3
71087055948. 4

Question Number : 67 Question Id : 71087014108 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Yyl Seld foeg ST URER &1 Y9l Siedl & ?

1. IR giaRr

2. fds Uiar

3. fofesdt - =i ORaR
4. 3 GRER
Options :
71087055945. 1
71087055946. 2
71087055947. 3
71087055948. 4

Question Number : 68 Question Id : 71087014109 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who has written the song * Pahil Piritiya Milal Aaijhe'?

1. Dr. Giridhari Ram Gaunjhu
2. Dr. H. N. Singh

3. Madhu Mansuri 'Hansmukh'
4. Dr. Ram Dayal Munda
Options :

71087055949. 1

71087055950. 2

71087055951. 3

71087055952. 4

Question Number : 68 Question Id : 71087014109 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ufgd Ui faaa e 7iq Fefafed & o g 2

1. 1. AR T 7g
2. 31 T4 . 48

3. HY Al g HE
4, 31, I &4 H3T
Options :
71087055949. 1
71087055950. 2
71087055951. 3
71087055952. 4

Question Number : 69 Question Id : 71087014110 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who amongst the following sons of Jharkhand set up Jury Panchayats?

1. Sheikh Bhikari

2. Tilka Manjhi

3. Telanga Kharia

4. Veer Budhu Bhagat
Options :
71087055953. 1
71087055954. 2
71087055955. 3
71087055956. 4

Question Number : 69 Question Id : 71087014110 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ol Uarad &1 A IREs & forg gya - faegr ur 2

1. 2G-TEry
PAGREARSE]
3, dam |@rEa
4, R YU
Options :

71087055953. 1
71087055954. 2
71087055955. 3
71087055956. 4

Question Number : 70 Question Id : 71087014111 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



"The accumulated reservoir of all knowledge is literature”
Who has given this definition of Literature?

1. Dandi

2. Bhamah

3. Rudrat

4. Acharya Mahavir Prasad Dwiwedi
Options :

71087055957. 1

71087055958. 2

71087055959. 3

71087055960. 4

Question Number : 70 Question Id : 71087014111 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

- & YhId B &I FIied § * Wiied $I g8 IRYN [BUdi g ?

1. GUSI
2. Y8

3.35<
4, =T HETER U9IE fgad

Options :

71087055957. 1
71087055958. 2
71087055959. 3
71087055960. 4

Question Number : 71 Question Id : 71087014112 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



‘Natua Dance’ is like the solo performance of which of the following dances?

1. Jadura Dance
2. Sohrai Dance
3. Matha Dance
4, Paika Dance
Options :
71087055961. 1
71087055962. 2
71087055963. 3
71087055964. 4

Question Number : 71 Question Id : 71087014112 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
23 T [0 T BT U TG G ?

1. ST Jd
2. HIE¥E 9

3. {181 7

4. Ugdhl 4d
Options :
71087055961. 1
71087055962. 2
71087055963. 3
71087055964. 4

Question Number : 72 Question Id : 71087014113 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



" Paila” is used for measuring-

1. Length of a log

2. Quantity of grains

3. Quantity of rods and cement
4. Weighing any goods
Options :

71087055965. 1

71087055966. 2

71087055967. 3

71087055968. 4

Question Number : 72 Question Id : 71087014113 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

UqT [0 HH A8 ?

1. @Sl B aHETs A9 & fog
2. 3 A9 & fog

3. B8 3R UiHe &1 7 & o
4, HF dia & fag

Options :

71087055965. 1

71087055966 2

71087055967. 3

71087055968. 4

Question Number : 73 Question Id : 71087014114 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following items made of bamboo is almost obsolescent now?

1. Box{case)

2. Almirah

3. Harka

4, Coffer
Options :
71087055969. 1
71087055970. 2
71087055971. 3
71087055972. 4

Question Number : 73 Question Id : 71087014114 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

9D qEUE EE FEH Y B ?

1. |l
2. HTTHR

3. Pl

4. fasiky
Options :
71087055969. 1
71087055970. 2
71087055971. 3
71087055972. 4

Question Number : 74 Question Id : 71087014115 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Vallabhacharya was the propounder of which one of the following Bhakti Cults?

1. Krishna Bhakti
2. Ram Bhakti

3. Nirguna Bhakti
4. Sufi

Options :
71087055973. 1
71087055974. 2
71087055975. 3
71087055976. 4

Question Number : 74 Question Id : 71087014115 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ot SeaHER o Y HiTIUR & Uad® ¢ 2

1. T Higd
2. T Higd
EREWRTIES|
4.
Options :
71087055973. 1
71087055974. 2
71087055975. 3
71087055976. 4

Question Number : 75 Question Id : 71087014116 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Matiram belongs to which of the following Kalas?

1. Bhakti kal

2. Reeti kal

3. Adhunik Kal
4, Aadi Kal
Options :
71087055977. 1
71087055978. 2
71087055979. 3
71087055980. 4

Question Number : 75 Question Id : 71087014116 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A [ B & DA g 2

1. Yidd &1
2. 3fd Bra

3. YD PIa
4, 3G BT
Options :
71087055977. 1
71087055978. 2
71087055979. 3
71087055980. 4

Question Number : 76 Question Id : 71087014117 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who composed the book Raghuvansh 7

1. Ashwaghosh
2. Bhairavi

3. Magh

4. Kalidas
Options :
71087055981. 1
71087055982. 2
71087055983. 3
71087055984. 4

Question Number : 76 Question Id : 71087014117 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TG B (D! [T € ?

1. AYEY
2. T4l

3. A"

4, DIfEy

Options :

71087055981. 1
71087055982. 2
71087055983. 3
71087055984. 4

Question Number : 77 Question Id : 71087014118 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who is the author of the book Geet Govinda?

1. Rajshekhar

2. Jaidev

3. Krishna Mishra
4, Damodar Mishra
Options :
71087055985. 1
71087055986. 2
71087055987. 3
71087055988. 4

Question Number : 77 Question Id : 71087014118 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tid TfE< & WA ST 2

J—
2. g &d

3. Pw Ay
4, GHIER My

Options :

71087055985. 1
71087055986. 2
71087055987. 3
71087055988. 4

Question Number : 78 Question Id : 71087014119 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



"Linguistics entails the study of elements of language”
Who gave this definition of Linguistics?

1. Babu Ram Saxena

2. Dr. Bholenath Tiwari

3. Dr. Uday Narayan Tiwari

4, Prof. Devendranath Sharma
Options :

71087055989. 1

71087055990. 2

71087055991. 3

71087055992. 4

Question Number : 78 Question Id : 71087014119 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

“UTYT Tedl I T YN [39H &1 faud g1 YT 39 &1 a8 ufeu a6 2

1. ST Gl

2. 81, viarFr faard

3. B, 354 AR faarid
4. 1 =TTy g7H
Options :

71087055989. 1
71087055990. 2
71087055991. 3
71087055992. 4

Question Number : 79 Question Id : 71087014120 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who stated that ‘The specific knowledge of a language is Linguistics'?

1. Dr. Kailash Chandra Bhatia
2. Dr. Manmohan Gautam

3. Prof.Devendranath Sharma
4, Dr. Amba Prasad Suman
Options :

71087055993. 1

71087055994. 2

71087055995. 3

71087055996. 4

Question Number : 79 Question Id : 71087014120 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

“YTeT & 3P 4 W9l 39 &, 98 &Y [Gaadn g 2

1. 1. bR g Yifed
2. 81 gHe iad

3. Ul S5y T

4. 31, 3 Y9IE gH'
Options :
71087055993. 1
71087055994, 2
71087055995. 3
71087055996. 4

Question Number : 80 Question Id : 71087014121 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In Linguistics Grimm's Rule is based on which one of the following?

1. Sound

2. Word

3. Term

4. Meaning
Options :
71087055997. 1
71087055998. 2
71087055999. 3
71087056000. 4

Question Number : 80 Question Id : 71087014121 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

y fAgE E P foa ey wafeas 2

1. G |

2. 9sg U

3. Ug W

4, 3|
Options :
71087055997. 1
71087055998. 2
71087055999. 3
71087056000. 4

Question Number : 81 Question Id : 71087014122 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Economy of Effort (Prayatna Laghav) is called

1. Stress accent

2. Disappearance (loap)

3. Mediant (Madhya Swaragam)
4. Mukh Sukh

Options :

71087056001. 1

71087056002. 2

71087056003. 3

71087056004. 4

Question Number : 81 Question Id : 71087014122 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
WIA-TT9a’ DI BT Al & -

1. didld
2.7

3. HEROITH
4. q9-gd
Options :
71087056001. 1
71087056002. 2
71087056003. 3
71087056004. 4

Question Number : 82 Question Id : 71087014123 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



"Hihiri- Pipari’ is related to which one of the following tribes?

1. Oraon

2. Munda

3. Ho

4, Sanhal
Options :
71087056005. 1
71087056006. 2
71087056007. 3
71087056008. 4

Question Number : 82 Question Id : 71087014123 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Bies-Uudh g Sonfd 4 GEd g 7

1 I e

2. HUs[

3.8l

4, YT
Options :
71087056005. 1
71087056006. 2
71087056007. 3
71087056008. 4

Question Number : 83 Question Id : 71087014124 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The following lyrics belong to which linguistic region of Jharkhand?
"Madhupurak dail char Ramgarhek Pani
Alaig Alaig Bhat Randha Nagpurek Rani”

1. Nagpuri

2. Khortha

3. Kurmali

4. Panchpargania
Options :
71087056009. 1
71087056010. 2
71087056011. 3
71087056012. 4

Question Number : 83 Question Id : 71087014124 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

5 i IREvS & 6y W g BT § 2
"HYQd Gled dR I TeD UM

RIS -3 HId Y ARG I

1. AT

2. GRal

3. DA

4, GuRAT=T
Options :
71087056009. 1
71087056010. 2



71087056011. 3
71087056012. 4

Question Number : 84 Question Id : 71087014125 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who wrote the play, 'Udbhasal Karna'?

1. Dr. A K. Jha

2. Shri. Niwas Panuri

3. Dr. Rindawan Mahato

4. Dr. Giridhari Ram Gaunjhu
Options :

71087056013. 1

71087056014. 2
71087056015. 3

71087056016. 4

Question Number : 84 Question Id : 71087014125 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
JEHHA BUI" HICD & TGP DI 6 ?

1.8LU & 31

2. 9t e

3. 31 gaTa Hedl

4. 81, Ffeem I Tiigg
Options :
71087056013. 1
71087056014. 2
71087056015. 3
71087056016. 4



Question Number : 85 Question Id : 71087014126 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following tribes is concentrated in the Kolhan area?

1. Ho

2. Kharia

3. Santal

4. Munda
Options :
71087056017. 1
71087056018. 2
71087056019. 3
71087056020. 4

Question Number : 85 Question Id : 71087014126 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Bieg B SIS 950 87 & 2

1. gl

2. @feqr

3. ddrd

4. qust
Options :
71087056017. 1
71087056018. 2
71087056019. 3
71087056020. 4

Question Number : 86 Question Id : 71087014127 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

As per the census 2001, the population of Lohar tribe is

1. 1,70,235

2. 2,69,335

3. 1,69,089
4,303,012
Options :
71087056021. 1
71087056022. 2
71087056023. 3
71087056024. 4

Question Number : 86 Question Id : 71087014127 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

2001 @I THIUFT & STHR Al oailid ®i fardt e g 7

1. 1,70,235

2. 2,69,335

3. 1,69,089

4. 3,03,012
Options :
71087056021. 1
71087056022. 2
71087056023. 3
71087056024. 4

Question Number : 87 Question Id : 71087014128 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is ‘pad bandha'?

1. A broken form

2. A form

3. A well-connected form
4, A new form

Options :

71087056025. 1
71087056026. 2
71087056027. 3
71087056028. 4

Question Number : 87 Question Id : 71087014128 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Tea= T E ?

1. ¢l gHI =4
2. Uh (4

3. 941 g3l =4
4. 41 &q
Options :
71087056025. 1
71087056026. 2
71087056027. 3
71087056028. 4

Question Number : 88 Question Id : 71087014129 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who is the author of Chhota Nagpur Ka Itihas: Kuchh Sutra, Kuchh Sandarbha?

1. Dr B.P. Keshari

2. Dr H.N. Singh

3. Dr Khaligue Ahmad

4. Dr Giridhari Ram Gaunjhu
Options :

71087056029. 1

71087056030. 2
71087056031. 3

71087056032. 4

Question Number : 88 Question Id : 71087014129 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

BIEHNR B 3eH 6 9 38 Yo' & oEd diH g ?

1. 31 T, 01, ST

2. Sl T4, [l

3. 31, WIidd 35HG

4. 81, AR I Tiig
Options :
71087056029. 1
71087056030. 2
71087056031. 3
71087056032. 4

Question Number : 89 Question Id : 71087014130 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is meant by "Artha'?

1. Life

2. Property

3. A System

4. The beginning
Options :
71087056033. 1
71087056034. 2
71087056035. 3
71087056036. 4

Question Number : 89 Question Id : 71087014130 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
37" Teg, BT Al F17 2

(RCGE|

2. Jf

3. Ugld

4, AN
Options :
71087056033. 1
71087056034. 2
71087056035. 3
71087056036. 4

Question Number : 90 Question Id : 71087014131 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the smallest unit of language?

1. Phrase (Pada)
2. A sentence

3. A letter

4, A word
Options :
71087056037. 1
71087056038. 2
71087056039. 3
71087056040. 4

Question Number : 90 Question Id : 71087014131 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

YT B Gad BI] 5HE H g ?

1.Uaq

2. dldg

3. 900

4. et
Options :
71087056037. 1
71087056038. 2
71087056039. 3
71087056040. 4

Question Number : 91 Question Id : 71087014132 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Khariyas are known by different names in different areas.

A. The Khariyas of Gumla, Simdega, Odisha, and Assam are known as Doodh Khariyas.

B. One branch of Asura is called Agariya Asuras

C. One branch of Mundas is called Patar Munda

D. The Khariyas of Madhya Pradesh, Jashpur and Raipur are called Dhelaki Khariyas.

E. The Khariya tribe group has been classified as belonging to the Austric-language family.
Choose the correct answer from the options given below:

1. A, D and E only
2. A, Band Conly
3. B, Cand E only
4.C, D and E only
Options :
71087056041. 1
71087056042. 2
71087056043. 3
71087056044. 4

Question Number : 91 Question Id : 71087014132 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ST 3TT-3e g3 H Sev-3e 9| T o 91 & -

A, T, TS, IS 9T 3199 & @il gy Wfsar &g rd g
B. HIR DI Uh YRAT SRTIRAT YR Dol Al &

C. gueTe{l 1 Ueh JIRGT UIak HUST gl Sl 6|

D. HHYGY], SRR, IR & Tl ¢aid! WISl o old & |

E. afSa1 Siifd &l Siifed & HIN URdR # 3@ Tl g |

i f&u ¢ famedl # 9 Wl I g :

1. PadA, D, E
2. BAAA, B, C
3. ®adB, C E
4. HaAC, D, E
Options :

71087056041. 1
71087056042. 2
71087056043, 3
71087056044. 4

Question Number : 92 Question Id : 71087014133 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The formation of the caste system is based on the birth of an individual

A. The class system is unstable in comparison to the Caste system.

B. Caste is based on birth.

C. The caste system is firm.

D. The profession of caste is certain, but the profession of a class is not certain.
E. There is a difference between Caste and Varna.

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087056045. 1
71087056046. 2
71087056047. 3
71087056048. 4

Question Number : 92 Question Id : 71087014133 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



1 Sl a1 B AU BT IR SHidk BT 9+ 52
A. ST - SHaRIT D1 SUET T71-o0awT AR T

B. Sl 1 HIYR T4 g

C. SiIfd RRR gt 3|

D. STl &1 oadd - (1%, a7 &1 51

£ SITd 3R &l H Sfar B

i f&u ¢ famedl # 9 Wl I g :

1. Had A, B

2.%au B, C

3.$aAC, D
4, HIAA, D
Options :

71087056045.
71087056046.
71087056047
71087056048

AW N =

Question Number : 93 Question Id : 71087014134 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Impact of industrialization on tribal life.

A. Displacement of tribes due to industrialization.

B. Distortion in cultural life.

C. Increase in supreme respect and importance.

D. Increase in religious faith and beliefs

E. The local life gets disturbed due to industrialization.
Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. A, B andE only
4. B, D and E only
Options :
71087056049. 1
71087056050. 2
71087056051. 3
71087056052. 4

Question Number : 93 Question Id : 71087014134 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



iR &1 S Sifg- R SH-BH ¥ UHE IS ?
A. SRR ¥ Saiadl o1 fGRIe

B. Hipidd Siia H faerra

C. Ydied G Ud Hed H dfg

D. M@ 3T Ud fayg # 9ig

€. AT & RIFTIGaH SR - o% & 9l &

i f&u ¢ famedl # 9 Wl I g :

1. BAAA, B, C
2. ®adB, C, D
3. ®AAA, B, E
4. HddAB, D, E
Options :

71087056049. 1
71087056050. 2
71087056051 3
71087056052. 4

Question Number : 94 Question Id : 71087014135 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What was the state of human evolution in the Stone Age?

A. Neolithic Age humans were less of hunters but skilled in animal husbandry.

B. Human being was the most developed creature among all terrestrial living beings.
C. The geclogical age of palaeclithic era is "Ati Nutan Kalp’

D. Neolithic humans used to build enclosures to protect themselves from wild animals.
E. Neolithic humans lived safely in huts.

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. A, DandE only
4.C, D and E only
Options :
71087056053. 1
71087056054. 2
71087056055. 3
71087056056. 4

Question Number : 94 Question Id : 71087014135 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TI9T0] T4 H 74 - fadr &t Rufd fog gaR iz

A. 9T G 7T 3fcd RIBR] U] SR GRUras U]
B. HIFd ®fcraR UIforal § gaiid fasiag ol g

C. QRT UINTUT &1 i ARG 39 il - &ed B

D. 74 UMV i Aa B0e w-ast § 99+ & o aeRrfGant & U
. Faumaor T A9 Sufsar § QR @d 31

i f&u ¢ famedl # 9 Wl I g :

1. BAAA, B, C
2. ®adB, C, D
3. ®AAA, D, E
4. HaAC, D, E
Options :

71087056053 1
71087056054. 2
71087056055. 3
71087056056 4

Question Number : 95 Question Id : 71087014136 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What are the main functions of ‘Gotras'?

A. The rules of 'Gotra’ control the conduct of its members.
B. The 'Gotra’ facilitates the right to property.

C. The ‘Gotra’ ensures compliance with exogamy rules.

D. The 'Gotra’ is the Panchayat of the Caste system.

E. The "Gotra’ strengthens the feelings of brotherhood.
Choose the correct answer from the options given below:

1. A, Band C only
2. B, Cand D only
3. A, Cand D only
4. A, Cand E only
Options :
71087056057. 1
71087056058. 2
71087056059. 3
71087056060. 4

Question Number : 95 Question Id : 71087014136 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T3 & UHE & A1 g ?

A. 7T 1 499 U He=i & FasR WR [0 Sl 3|
B. T Hufl &1 ISR a2

C. 7= sfgfdarg Heeh FaH! &1 e S 6|

D. 71171 i1 SHa=YT 1 Udrad

. T F UTS - TR @1 UIGT 26 Bial ¢

i f&u e fawedt & €@ wdl Sw g

1. BAAA, B, C
2. ®adB, C, D
3. ®HAAA, G D
4. HAAA, C, E
Options :

71087056057.
71087056058.
71087056059.
71087056060.

AW N =

Question Number : 96 Question Id : 71087014137 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tamil and Kurukh languages are closely related.

A. Tamil and Kurukh languages are very close to each other.

B. Dravidians are called Mediterranean in Anthropology.

C. The forefathers of Dravidians and Greeks were the same.

D. Many things can emerge from the study of Kurukh and Tamil.

E. There is great similarity between the grammars of Tamil and Kurukh
Choose the correct answer from the options given below:

1. A, D and E only
2. B, Cand D only
3. A, Band Conly
4. A, Cand D only
Options :
71087056061. 1
71087056062. 2
71087056063. 3
71087056064. 4

Question Number : 96 Question Id : 71087014137 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



o1 e AR g v Fwe o Wy &

A. T 3R S HINT TH G & DB B4 ¢

8. Gidsl B AFGIRG H HISC-0 Hgl SId 8|

C. Bids R gAHEl & 9 TP ol U1
D.@gmﬁﬁdmm%&wMAﬂméaﬁﬂﬁﬁﬁﬂwﬁﬂ%
E. T 3R $$T & NI H BIBT YA §

i f&u ¢ famedl # 9 Wl I g :

1. PadA, D, E
2. ®adB, C, D
3. ®AAA, B, C
4. HFAA, C, D
Options :

71087056061. 1
71087056062. 2
71087056063. 3
71087056064 4

Question Number : 97 Question Id : 71087014138 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



There is a tradition of Samskar folk song in Panchparganiya language:
A. Panchparganiya samskar folk songs are marriage songs only.

B. Folk songs are sweet meladies for ears.

C. Panchparganiya samskar folk songs have a rich tradition.

D. There are as many folk songs as the number of festivals.

E. Panchparganiya language does not have folk songs.

Choose the correct answer from. the options given below:

1. A and B only
2. B and C only
3. A and C only
4. Cand D only
Options :
71087056065. 1
71087056066. 2
71087056067. 3
71087056068. 4

Question Number : 97 Question Id : 71087014138 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



1 GO HIGT H GEPR Alild B W § ?

A. UIUTE] TRBR dldidl § A1 daifed ifid ot 31d &)
B. dideiid Bl H HYR Witd b old &

C. TUAIA1 TRPR didiial @1 U WRIE B

D. foia TIER € Ja- UPR & didilid 5|

. UGURATT=a1 HIYT H §%BR 7id 81d & 78l 6|

i f&u ¢ famedl # 9 Wl I g :

1. Bad A, B
2. ®HadB, C
3. HAAA, C
4. HaAC, D
Options :

71087056065.
71087056066.
71087056067.
71087056068.

AW O~

Question Number : 98 Question Id : 71087014139 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The essential elements of Panchparganiya folk lores are:

A. Panchparganiya folk songs are not short of story content
B. Folk is so strong that it creates story content.

C. Panchparganiya folk songs are full of mythological stories.
D. Self-created songs are found in abundance.

E. Panchparganiya plots are mostly related to life.

Choose the correct answer from the options given below:

1. A, Cand D only
2.C, D and E only
3. A, B andE only
4. B, Cand D only
Options :
71087056069. 1
71087056070. 2
71087056071. 3
71087056072. 4

Question Number : 98 Question Id : 71087014139 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



UIURIT-A Tl HYT3fl & HIG=aD od FI 1§ ?

A. UTd TR iyt # Syl aegafi &1 Al T8 o

B. CIGHMY Sa-1 U=Iad © T SH DT g%l &1 a1 - -1 g1 Sl 6|
C. Ul WM didddistl H GRS Ul +R U g

D. WHfHd HYM R 4 H Urs Il 2

E. GaUATHAT HYIaRIU bR siigd 4 9ol sidl ol

i f&u ¢ famedl # 9 Wl I g :

1. BAAA, C, D
2.®aAC, D, E
3. ®AAA, B, E
4. HddAB, C, D
Options :

71087056069. 1
71087056070. 2
71087056071. 3
71087056072. 4

Question Number : 99 Question Id : 71087014140 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



‘Safa Hor' movement and 'Kharwar' movements are

A. Kharwar Movement is an important incident in the history of Sanhal Pargana
B. Safa Hor Movement assumed a political form.

C. Kharwar Movement itself is called Safa Hor Movement.

D. The gods-goddess indicated by leaders should be worshipped.

E. Safa Hor Movement became a social and religious reform movement.
Choose the correct answer from the options given below:

1.B,C, D and E only
2. A, B, Cand E only
3.A,C DandE only
4. A, B, Cand D only
Options :
71087056073. 1
71087056074. 2
71087056075. 3
71087056076. 4

Question Number : 99 Question Id : 71087014140 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



1 W11 §lS" $AigiaH Ud WAR gl Ud 87

A ERAR HiGaH Gdid TR & 3ide™ ®f Hgayul gedl gl
5. T 618 ATGIeH o IoHIfde Wey YR & o |

C. TWAR 3igia- & g 91 818 Aigia dgl oidl g

D. Icll3ff R ST 7Y Gdl-gaanafl ot goll &1 d1igy|

E. T §15 ffaiaH JrEifoe HR e R JiaiaH a4 41|
il fgu e fawedt & @ 9d Sw g -

1. ®dd B, C, D, E
2. PAdA, B, C, E
3. ®BAdA, G D, E
4 HIAA, B, C, D
Options :
71087056073. 1
71087056074. 2
71087056075. 3
71087056076. 4

Question Number : 100 Question Id : 71087014141 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Background of Sauriya Pahariya tribe:

A. The Northern part of Damin-i-koh is the abode of Sauriya Pahariya tribe.

B. Kumarbhag does not belong to tribal category.

C. The language of Sauriya Pahariyas is called Malto.

D. The sub caste of Mall Pahariya is called Kumarbhag.

E. There is no difference between the language of Sauriya Pahariya and Santhali.
Choose the correct answer from the options given below:

1.B,C,Dand E only
2. A, B, Cand E only
3. A, B, Cand D only
4. A B, DandE only

Options :

71087056077. 1
71087056078. 2
71087056079. 3
71087056080. 4

Question Number : 100 Question Id : 71087014141 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



IR UgIrEy Sisd &1 USHH #1 E ?

A. BIFEH - 3 - ®ig B 3ol YA 9IRa1 Ugifsar sieiid &1 Hag ®=d 8|
B. THR YA Saraid 4uft & 91 &1

C. GiRgr UgTiga1 &1 HIwl &l Alcidl Hed 6|

D. HId YeITSd1 &1 SUSlIfdl i AR HFI del Sl 5

E. T UgIfEan & 1N SR el {9l H facdd 3R "ol o

i feu 1 famedl 7 9 wel 3w g+

1.5dAB, C, D, E

2. AU A, B, C, E

3. PAdA, B, C, D
4, B9 A, B, D, E
Options :
71087056077. 1
71087056078. 2
71087056079. 3
71087056080. 4

Question Number : 101 Question Id : 71087014142 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the basis of philosophy of religion:

A. The concept of soul is the basis of philosophy of religion.
B.The spirits control the human life.

C. The soul remains in existence even after the body perishes.
D. The theory of spirits is different from that of souls.

E. The body is transient and the soul is immortal.

Choose the correct answer from the options given below:

1. A, B and C only
2. A, CandE only
3.B,Cand D only
4.C, D and E only
Options :
71087056081. 1
71087056082. 2
71087056083. 3
71087056084. 4

Question Number : 101 Question Id : 71087014142 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



YHGRIM BT YR T3 ?

A. ST B YR &1 ¢ 2 BT AR 3

B. T ST AMGwiia ol BT @l g

C. T @1 i IR & ¥ B B &g HI §1 8 B
D. Udl &1 fgid siesil 9 gyd g

E. TRR 3R B SR T SR B

- feu T famedl & 9 wel 3w g :

1. HAd A, B, C

2.%dduA, G E

3. $adB, C D
4. H9AC, D, E
Options :

71087056081. 1
71087056082. 2
71087056083. 3
71087056084. 4

Question Number : 102 Question Id : 71087014143 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The physical state and knowledge capability of Orangutans
A. The ankles of Orangutans are not properly evolved.

B. Orangutans speak like human beings.

C. Orangutans can think like human beings.

D. Orangutans use four feet for moving around.

E. Orangutans cannot fly.

Choose the correct answer from the options given below:

1. A, D and E only
2. B, Cand D only
3. A, Band Conly
4.C, D and E only
Options :
71087056085. 1
71087056086. 2
71087056087. 3
71087056088. 4

Question Number : 102 Question Id : 71087014143 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



SRier @t IR fRuf Td I & -

A. AR @& Tl o=t 78 a1 gidll &

B. HRF[EH HIHd ! Hifd dicial &

C. ARF[EH F% &1 Hifd Hid Tl o |

D. SR T+ H IRl Urdl &1 Sugil &d &
E. SIRACH 35 T8l Gl g |

i feu 1 famedl 7 9 wel 3w g+

1. PadA, D, E
2. ®adB, C, D
3. ®AAA, B, C
4. HaAC, D, E
Options :

71087056085. 1
71087056086. 2
71087056087. 3
71087056088. 4

Question Number : 103 Question Id : 71087014144 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is religion?

A. Religion is different from logic and reason as well as scientific facts.

B. Durkheim is of the opinion that religion differentiates between chastity and profanity.
C. We regard idols, temples, rituals and worship as pious.

D. Everybody prays and worships in his/her own way.

E. Religion aims to cause conflict.

Choose the correct answer from the options given below:

1. A, B, Cand D only
2.B,C, D and E only
3. A, B, DandE only
4. A C DandE only
Options :
71087056089. 1
71087056090. 2
71087056091. 3
71087056092. 4

Question Number : 103 Question Id : 71087014144 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. BadA, B, C, D
2. ®adB, C D, E
3. ®adA, B, D, E
4. HAAA, C D, E

Options :

71087056089. 1
71087056090. 2
71087056091. 3
71087056092. 4

Question Number : 104 Question Id : 71087014145 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What are the characteristics of the people belonging to Jharkhand?

A. Here, persons of all castes and religions live in harmony.

B. The politics of caste and religion is common here.

C. Persons belonging to all castes and religions participate in group dances.
D. Here, persons belonging to different religions and cultures live separately.
E. The people of Jharkhand are honest.

Choose the correct answer from the options given below:

1. A, B and D only
2. B, Cand A only
3.C, D and E only
4. A, Cand E only
Options :
71087056093. 1
71087056094. 2
71087056095. 3
71087056096. 4

Question Number : 104 Question Id : 71087014145 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. @dd A, B, D
2. PAAB, C, A
3.$aAC, D, E
4, HIAA, G E
Options :

71087056093. 1
71087056094. 2
71087056095. 3
71087056096. 4

Question Number : 105 Question Id : 71087014146 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements related to Fani Mukut Rai are correct?
A. Fani Mukut Rai was the adopted son of Madra Munda.

B. Fani Mukut Rai had defeated Madra Munda in war.

C. Fani Mukut Rai was a killer of snakes

D. In his childhood Fani Mukut Rai was protected by the hood of a snake
E. Persons belonging to ‘Nagvansh’ do not kill snakes

Choose the correct answer from the options given below:

1. A, D and E only
2. A, Band Conly
3.B,Cand D only
4. A, B and D only

Options :

71087056097. 1
71087056098. 2
71087056099. 3
71087056100. 4

Question Number : 105 Question Id : 71087014146 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.®Ad A, D, E

2.Bad A, B, C

3. HAAB, C, D
4. HdA A, B, D

Options :

71087056097. 1
71087056098. 2
71087056099. 3
71087056100. 4

Question Number : 106 Question Id : 71087014147 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements related to the Mahabharata and Ramayana are correct?
A. Rama was exiled for fourteen years.

B. Rama had killed Krishna.

C. Devakinandan was instrumental in Ramayan war.

D. Rama was an ideal person.

E. Rama did not belong to the Raghu dynasty.

Choose the correct answer from the options given below:

1. B and C only
2. A and D only
3.Cand D only
4. A and E only
Options :
71087056101. 1
71087056102. 2
71087056103. 3
71087056104. 4

Question Number : 106 Question Id : 71087014147 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HETHRG 3R I H Haftd BF - B 4 Y- T3l 6 ?
A. A @I IiGe 99 BT gaTy g3i U

B. XH - S DI AR Y

C. AU B G5 Gadi e 3 BIET Ul

D. T HIGY §&Y U

E.XMIY A & ol o

i< feu e Geedl d 9 98l S 9 ;

1. $ad B, C

2. ®@dd A, D
3. ®AAC, D
4. HAAA, E
Options :
71087056101. 1
71087056102. 2
71087056103. 3
71087056104. 4

Question Number : 107 Question Id : 71087014148 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Sahitya Sangeet Kala Viheen

Sakshat Pashu Puchh Vishan Heen

What are the meanings of the above statement?

A. Literature and Music are against Art.

B. Human beings are incomplete without literature, music and Art.
C. Literature and Music devoid of art are like a poisonless snake.
D. Human beings without art, literature and music are like animals.
E. Literature and Music are enemies of each other.

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087056105. 1
71087056106. 2
71087056107. 3
71087056108. 4

Question Number : 107 Question Id : 71087014148 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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i U e faeal # 9 98l SR 9 -

1. Had A, B

2.%au B, C

3.$aAC, D
4, HIA D, A
Options :

71087056105.
71087056106.
71087056107
71087056108.

AW O~

Question Number : 108 Question Id : 71087014149 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The ancestors of Birsa Munda were Chutu Munda and Naga Munda
A. Chutiya Nagpur has been named after Chutu-Nagu.

B. Chutu had a pigtail on his head.

C. Nagu had come from Nagpur.

D. Chutu Nagu belonged to Munda family.

E. Chutu Nagu did not eat boiled rice (Bhat)

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. A and D only
4. A and C only
Options :
71087056109. 1
71087056110. 2
71087056111. 3
71087056112. 4

Question Number : 108 Question Id : 71087014149 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A. 9¢ - AN & AH ¥ g1 ARTQR &1 AHGRU §Hl 5|

B. I 31U H1Y R dId] 1@l i 4|
C. AR ARTR ¥ 3T 4|

D. I¢-] HUsT URaR ¥ 4|

E. g-AR] HId ol @Id Y|

i feu TTu fasedl & 9 981 SR g -
1.Pad A, B

2. HAd B, C

3. »ad A, D

4.Pad C, A

Options :

71087056109. 1

71087056110. 2

71087056111. 3
71087056112. 4

Question Number : 109 Question Id : 71087014150 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



How did the setting up of Akashvani ‘Ranchi’ impact the inhabitants of the area?
A. This encouraged folk artists.

B. Broadcast commenced from Akashvani.

C. Disputes arose amongst folk artists.

D. Some of the folk artists got employment.

E. The people did not like All India Radio.

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. B and D only
4. A and D only
Options :
71087056113. 1
71087056114. 2
71087056115. 3
71087056116. 4

Question Number : 109 Question Id : 71087014150 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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C. T DATPRI & &g fadlg AR Bl 77|
D. HTHRAIUT &l RITGA H PS Al DAIDRI DI ASHTR [HT|
E. TIRTE @1 SMHIRIGIT UHG ol S|

i feu TTu fasedl & 9 981 SR g -

1. BAdd A, B

2. HAAB, C

3. H»dd D, B

4, Had A, D

Options :

71087056113 1

71087056114, 2

71087056115. 3
71087056116. 4

Question Number : 110 Question Id : 71087014151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Why do people in rural areas of Jharkhand believe in exorcism?
A. People get well after exorcizing.

B. People start flying after exorcism.

C. An unwell person believes in getting cured after the exorcism.
D. Exorcism is infact a superstition.

E. Exorcism leads to rainfall.

Choose the correct answer from the options given below:

1. A and D only
2. B and C only
3.Cand D only
4. A and B only
Options :
71087056117. 1
71087056118. 2
71087056119. 3
71087056120. 4

Question Number : 110 Question Id : 71087014151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FRES o AT & H AR TS - Db IR (9% & @ @ -
A. AT TS - b o d1G 31 ol Sld ol
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C. Uth SR SAfdd HRIGT &idl o (b a8 1S - b U Bl &l SIe|

D. 18 b a¥qe: TP AU B
E. S15-Bd ¥ UFl ak9dl Bl
i feu TTu fasedl & 9 981 SR g -

1. Bad A, D
2. ®HadB, C

3. ®aAC, D
4. Had B, A
Options :
71087056117. 1
71087056118. 2
71087056119. 3
71087056120. 4

Question Number : 111 Question Id : 71087014152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the importance of Karam festival?

A. Jharkhand has ‘"Karam' trees in abundance.

B. Karma is a religious festival in Jharkhand.

C. Karam trees provide food.

D. Karma is a traditional festival.

E. Karma festival is celebrated in the month of ‘Agahan’
Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3.B and C only
4. Cand D only
Options :
71087056121. 1
71087056122. 2
71087056123. 3
71087056124. 4

Question Number : 111 Question Id : 71087014152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A, B

2.ad B, D

3. Had B, C
4. HddC, D

Options :

71087056121. 1
71087056122. 2
71087056123. 3
71087056124. 4

Question Number : 112 Question Id : 71087014153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What are the the salient features of folk tales?

A. The folk tales are the legacy of ancestors.

B. The authors die after writing.

C. Folk tales are written incognito.

D. The authors in folk tales remain unknown.

E. The folk tale is written by an author.

Choose the correct answer from the options given below:

1. B and C only
2.Cand D only
3. A and D only
4. A and B only
Options :
71087056125. 1
71087056126. 2
71087056127. 3
71087056128. 4

Question Number : 112 Question Id : 71087014153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Bdd B, C
2. HAAC, D
3. HAd A, D
4. BT A, B
Options :
71087056125.
71087056126.

71087056127.
71087056128.

AW O~

Question Number : 113 Question Id : 71087014154 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following statements are true of Sir George Grierson
A. He published the survey of languages in twenty one volumes

B. He surveyed the languages of South India.

C. At the time of the survey, Grierson had gone bald.

D. "Linguistic Survey of India" is his invaluable creation

E. Sir George A Grierson had fallen at the time of the survey.

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. B and D only
4. A and D only
Options :
71087056129. 1
71087056130. 2
71087056131. 3
71087056132 4

Question Number : 113 Question Id : 71087014154 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HAA A, B
2. Had B, C
3. Had D, B
4, ®Had A, D
Options :
71087056129.
71087056130.

71087056131.
71087056132.

AW O~

Question Number : 114 Question Id : 71087014155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Why did Birsa Munda use to wear a turban?

A. Birsa Munda used to wear turban to safe guard his head.
B. It is a traditional dress of The Mundas.

C. In those days, Turban was available at a very cheap rate.
D. Turban used to protect from sun light and extreme heat.
E. In those Turban was a symbol of elegance.

Choose the correct answer from the options given below:

1. B and D only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087056133. 1
71087056134. 2
71087056135. 3
71087056136. 4

Question Number : 114 Question Id : 71087014155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. $dd B, D
2. ®HadB, C
3. ®aAC, D
4. HAAD, A
Options :

71087056133.
71087056134
71087056135
71087056136
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Question Number : 115 Question Id : 71087014156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Why do the tribes of Jharkhand, worship their village?

A. It is an ancient tradition of Jharkhand.

B. People from other villages join in village-worship.

C. Village-worship is performed for the happiness and peace of villagers.
D. The villagers go outside for work.

E. The villagers have difference of opinion.

Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3. B and D only
4. A and D only

Options :

71087056137. 1
71087056138. 2
71087056139. 3
71087056140. 4

Question Number : 115 Question Id : 71087014156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Bad A, B
2. HAAA, C
3. @A B, D
4. HAAA, D

Options :

71087056137.
71087056138.
71087056139.
71087056140.
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Question Number : 116 Question Id : 71087014157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

(Book) (Author)

A. Munta Pump Jhumpa . Pyara Karketta

B. Chhaila Sandu Il. Bhagwat Murmu Thakur
C. Dong Sereng Il. Dawle Kujur

D. Lothero Somadhi V. Mangal Singh Munda

Choose the correct answer from the options given below:

TA-ILB-U,C-1V,D-I
2ZA-LB-IWV.C-II,D-1
SA-ILB-IV,C-1I,D-1
4A-IVB-IILC-I, D-1I
Options :

71087056141. 1
71087056142. 2
71087056143. 3
71087056144. 4

Question Number : 116 Question Id : 71087014157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-ILB-1I,C-1V, D-1
2ZA-1LB-IV.C-ll, D-1I
SA-ILB-IV,C-1l, D-1
4A-IVB-IILC-I, D-1I
Options :

71087056141. 1
71087056142. 2
71087056143. 3
71087056144. 4

Question Number : 117 Question Id : 71087014158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List Il with respect to the district of majority tribes

List | List Il
(Aborigines) (District)

A. Birajiya .. Saheb ganj
B. Korwa Il. Gumla

C. Mal Pahariya lll. Lohardaga
D. Asur IV. Jashpur

Choose the correct answer from the options given below:

TA-1LB-I,C-1IV,D-Il
2ZA-ILB-IV,C-1I, D-1I
A-IVB-LC-I, D-1I
4AA-ILB-NLC-IV, D-1
Options :

71087056145. 1
71087056146. 2
71087056147. 3
71087056148. 4

Question Number : 117 Question Id : 71087014158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-ILB-I,C-IV, D-1
2ZA-ILB-IV,C-1I, D-1I
A-IVB-LC-I, D-1I
4AA-ILB-NLC-IV, D-1
Options :

71087056145. 1
71087056146. 2
71087056147. 3
71087056148. 4

Question Number : 118 Question Id : 71087014159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

(Books) (Authors)

A, Symposium . Aristotle

B. Poetics Il. T.S. Eliot

C. Lyrical Ballads lIl. Plato

D. Selected Essays V. William Wordsworth

Choose the correct answer from the options given below:

TA-ILBE-N,C-1,D-1V
2ZA-ILB-1,C-1IV, D-1I
SA-LB-1IL,C-, D-1IV
4AA-IV.B-IIILC-1, D-1
Options :

71087056149. 1
71087056150. 2
71087056151. 3
71087056152. 4

Question Number : 118 Question Id : 71087014159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Fgerad Aol & @ uel [awed T

TA-ILBE-N,C-1, D-IV
2ZA-ILB-1,C-1IV, D-1I
SA-LB-1IL,C-, D-1IV
4AA-IV.B-IIILC-1, D-1
Options :

71087056149. 1
71087056150. 2
71087056151. 3
71087056152. 4

Question Number : 119 Question Id : 71087014160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

(Folk Drama) (State)

A. Videshiya . Maharashtra

B. Ankiya Il. Himachal Pradesh
C. Kariyala Il. Assam

D. Tamasha V. Bihar

Choose the correct answer from the options given below:

TA-ILB-IV,C-Il,D-1I
2ZA-ILB-1L,C-I, D-1IV
SA-LB-1IL,C-1V, D-1I
4AA-IV.B-IIILC-1, D-1
Options :

71087056153. 1
71087056154. 2
71087056155. 3
71087056156. 4

Question Number : 119 Question Id : 71087014160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-ILB-IV,C-1l, D-1
2ZA-ILB-1L,C-I, D-1IV
SA-LB-1IL,C-1V, D-1I
4AA-IV.B-IIILC-1, D-1
Options :

71087056153. 1
71087056154. 2
71087056155. 3
71087056156. 4

Question Number : 120 Question Id : 71087014161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

(Book) (Author)

A. Hitopadesh . Aryashur

B. Vetal Panchavimshati Il. Vidyapati

C. Purush- Pariksha lll. Narayan Pandit
D. Jatakmala IV. Shivdash

Choose the correct answer from the options given below:

TA-ILB-IV,C-Il,D-1I
2A-LB-I,C-1IV, D-1l
SA-IVB-ILC-1, D-1I
4 A-ILB-LC-1I, D-IV
Options :

71087056157. 1
71087056158. 2
71087056159. 3
71087056160. 4

Question Number : 120 Question Id : 71087014161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FEfeiad T3l @I 39d TWHIDRI & WY FHf A BT :

gl -| -l

Tl PEEIEAN
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D. Wilcid &Il v. farae
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TA-ILB-IV,C-1l, D-1
2A-LB-I,C-1IV, D-1l
SA-IVB-ILC-1, D-1I
4 A-ILB-LC-1I, D-IV
Options :

71087056157. 1
71087056158. 2
71087056159. 3
71087056160. 4

Question Number : 121 Question Id : 71087014162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List I

(Martyrs) (Place of Birth)

A. Sheik Bhikhari . Satranji

B. Jatara Bhagat Il Jarigram

C. Thakur Vishwanath Shahdeo lIl. Chingri Nawatoli
D. Lance Nayak Albert Ekka V. Khudia Lotwa

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-1L,C-1V, D-1I
SA-IVB-ILC-I, D-1I
4AA-NILEB-IV,C-1l, D-1
Options :

71087056161. 1
71087056162. 2
71087056163. 3
71087056164. 4

Question Number : 121 Question Id : 71087014162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-1LB-I,C-1I, D-IV
2ZA-ILB-1L,C-1V, D-1I
SA-IVB-ILC-I, D-1I
4AA-NILEB-IV,C-1l, D-1
Options :

71087056161. 1
71087056162. 2
71087056163. 3
71087056164. 4

Question Number : 122 Question Id : 71087014163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

(Theory of Literature) (Acharya who propounded)
A. Rasa Sidhant l. Kshamendra

B. Dhwani Sidhant Il. Kuntak

C. Vakrokti Sidhant lll. Anand Vardhan

D. Auchitya Sidhant V. Bharat Muni

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2A-IVB-ILC-1l, D-1I
SA-ILB-1L,C-1V, D-1I
4 A-NLB-IV,C-1, D-1I
Options :

71087056165. 1
71087056166. 2
71087056167. 3
71087056168. 4

Question Number : 122 Question Id : 71087014163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Fgerad aeedl & @ uel [amed 9 -

TA-1,B-1I,C-1l, D-1IV
2A-IVB-ILC-1l, D-1I
SA-ILB-1L,C-1V, D-1I
4 A-NLB-IV,C-1, D-1I
Options :

71087056165. 1
71087056166. 2
71087056167. 3
71087056168. 4

Question Number : 123 Question Id : 71087014164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List I

(Vedangas) (Purpose)

4. Shiksha . Social Sacrament

B. Kalpa Il. Chaste pronunciation of Language
C. Vyakaran lll. Commentaries on Nighantus

D. Nirukta IV. The form and meaning of pada

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-1,C-1IV, D-1I
SA-ILB-IV, C-1, D-1
4 A-IILB-1L,C-IV, D-1
Options :

71087056169. 1
71087056170. 2
71087056171. 3
71087056172. 4

Question Number : 123 Question Id : 71087014164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e & e o @ Saild SR & AT GRS

gl -| Tl -1

dgiT SRR

FE . FTHITS® PR

B. el 1. YTYT & g IR
C. SR 1. it @

D. e V. U5 & ey ud Y

Fgerad Aol & @ uel [amed 9 -

TA-1,B-1I,C-1l, D-1IV
2ZA-ILB-1,C-1IV, D-1I
SA-ILB-IV, C-1, D-1
4 A-ILB-LC-IV, D-1
Options :

71087056169. 1
71087056170. 2
71087056171. 3
71087056172. 4

Question Number : 124 Question Id : 71087014165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11
(Litterateur) (Languages)
A. Awadh Narayan Dwivedi . Bengali

B. Ramakant Chaudary 1l. Odia

C. Fagir Mohan Chaudhary . Assamese
D. Dr Dinesh Chandrassen V. Marathi

Choose the correct answer from the options given below:

TA-IV,E-U,C-1l,D-1
2ZA-ILB-IL,C-1, D-1IV
SA-ILB-1L,C-1V, D-1I
4A-1LB-IV,.C-1Il, D-1
Options :

71087056173. 1
71087056174. 2
71087056175. 3
71087056176. 4

Question Number : 124 Question Id : 71087014165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafad TitasRl @ 396! HINT & 9y gHfed i -

gl -| T -1l

L IRRCZR HTET

A. 3dY AR fgad! |, ST

B. THTHI T 1. Ifsar
CHIR Higd ared (IRE e
D. 1. fe- = d% ¥4 V. FRTST

Fgerad Ao 3 3 9al [ioed 9g

TA-IV,E-U,C-1l, D-1
2ZA-ILB-IL,C-1, D-1IV
SA-ILB-1L,C-1V, D-1I
4A-1LB-IV,.C-1Il, D-1
Options :

71087056173. 1
71087056174. 2
71087056175. 3
71087056176. 4

Question Number : 125 Question Id : 71087014166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

(Word) (Direction of change in their Meaning)
4. Abhyasa .. Arthopkarsha

B. Mriga Il. Transference of meaning (Arth Adesh)
C. Asura lll. Expansion of meaning (Arth Vistar)

D. Maharaj IV. Contraction of Meaning (Arth Sankoch)

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-NL,C-1V, D-I
SA-ILB-IV,C-1l, D-1
4A-IV.B-I,C-1I, D-1
Options :

71087056177. 1
71087056178. 2
71087056179. 3
71087056180. 4

Question Number : 125 Question Id : 71087014166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFrafaiad 2eal @I o ufiad o fderstl & 9y gHfed Sifon -

i -| Tl -1

eq 3 UREd o1 feam
A. ST . iUy

B. T 1. SrufeE

C. 3R 1. HAERR

D. HERTH v, 3% dbig

fafciad fasedl o 4 wel faded g :

TA-1,B-1I,C-1l, D-1IV
2ZA-ILB-U,C-1V, D-I
SA-ILB-IV,C-1l, D-1
4A-IV.B-I,C-1I, D-1
Options :

71087056177. 1
71087056178. 2
71087056179. 3
71087056180. 4

Question Number : 126 Question Id : 71087014167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following martyrs in chronclogical order based on their emergence
A. Pandey Ganpat Roy

B. Sheikh Bhikhari

C. Jatara Bhagat

D. Veer Budhu Bhagat

Choose the correct answer from the options given below

1.D,A B C
2 A B CD
3B.CAD
4.C, B, D A
Options :
71087056181.
71087056182.
71087056183.
71087056184.

AW O~

Question Number : 126 Question Id : 71087014167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frafafad 2Eial &1 34 HfqHid SIaHd U Uel SpH dH © ?
A. UIUSY YR

5. TN TRl

C. SR H7d

D. dIX - g4 HiTd

1.D,A B C
2 A B CD
3B.CAD
4.C, B, D A
Options :
71087056181.
71087056182.
71087056183.
71087056184.

AW N =

Question Number : 127 Question Id : 71087014168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following tribes in the descending order of their population in Jharkhand
A. Kherwar

B. Lohra

C. Kharia

D. Bhumij

Choose the correct answer from the options given below

1. A B D,C
2 A B CD
3.B.D,C A
4. C, A DB
Options :
71087056185.
71087056186.
71087056187.
71087056188.

AW O~

Question Number : 127 Question Id : 71087014168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gRES H FEfaRad SHeIaal &1 S-HE o ed U el 8 UEl A 313 2
A. WRER

B. TGl
C. @fsdn

D. HfFe
<4 fGu T faspedl # 9 951 SR 94 -

1. A B D,C
2 A B CD
3.B.D,C A
4. C, A DB
Options :
71087056185.
71087056186.
71087056187.
71087056188.

AW N =

Question Number : 128 Question Id : 71087014169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The correct sequence of evolution of script in the order of hierarchy.
A. Sutra lipi

B. Bhavamoolak lipi

C. Chitra lipi

D. Prateekatmak lipi

Choose the correct answer from the options given below

1. A BCD
2B D CA
3CADB
4.D,C B A
Options :
71087056189. 1
71087056190. 2
71087056191. 3
71087056192. 4

Question Number : 128 Question Id : 71087014169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



o1 & faPb™ &1 HiAd TUH &1 Yel SHHH DH & ?
A, FF-fefg

B. HIgHI® faifd

c.f= - fafg

D. UdiipTH® feify

i U e faeal # 9 98l SR 9 -

1. A BCD
2B D CA
3CADB
4.D,C B A
Options :
71087056189. 1
71087056190. 2
71087056191. 3
71087056192. 4

Question Number : 129 Question Id : 71087014170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following poets/poetesses in the correct chronological order
A. Tulsidas

B. Meerabai

C. Surdas

D. Keshavadas

Choose the correct answer from the options given below

1. A B D,C
2B CDA
3.CD,B A
4. C, A DB
Options :
71087056193.
71087056194.
71087056195.
71087056196.

AW O~

Question Number : 129 Question Id : 71087014170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



BIchH & ATIR FERId Diddl / Hafa=al &1 98! S HH &l g 7

A. godied

B. HiRTaTS

C. ¥Xad

D. DA

i U e faeal # 9 98l SR 9 -

1. A B D,C
2B CDA
3.CD,B A
4. C, A DB
Options :
71087056193.
71087056194.
71087056195.
71087056196.

AW O~

Question Number : 130 Question Id : 71087014171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The correct sequence of the festivals given below taking January as the begining of the year:
A. Sarahul

B. Tusu

C. Manda/Bhoktalhula

D. Karam

Choose the correct answer from the options given below

1.B,D,C A
2B ACD
3.A,B,CD
4.D,B.C A
Options :
71087056197. 1
71087056198. 2
71087056199. 3
71087056200. 4

Question Number : 130 Question Id : 71087014171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



SiFadl @I 9N B URA™ AH- W i U U Ud - WERI &1 Wl 3-{hH &1 6 ?

A. TRgd

B. T
C. HUST / Hiadl el

D. B
i feu TTu fasedl & 9 981 SR g -

1.B,D,C A
2B ACD
3.A,B,CD
4.D,B,C A
Options :
71087056197. 1
71087056198. 2
71087056199. 3
71087056200. 4

Question Number : 131 Question Id : 71087014172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in the correct chronological sequence:
A. Kirtilata

B. Surasagar

C. Rasikpriya

D. Kamayani

Choose the correct answer from the options given below

1.B,C,D A
2.D,CBA
3.A,B,CD
4.C,D,B A
Options :
71087056201. 1
71087056202. 2
71087056203. 3
71087056204. 4

Question Number : 131 Question Id : 71087014172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FEfeRad 5 SIcshH 9 Yel HgHH diH § ?
A, Bifderar

B. TXATR

C. IS U

D. BHEIHI

i f&u e fdoredl & ¥ 98l S 9 -
1.B,C, D, A

2.D,C, B, A

3.A,B,CD

4.C,D, B A

Options :

71087056201. 1

71087056202. 2

71087056203. 3
71087056204. 4

Question Number : 132 Question Id : 71087014173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following depicts the correct period of 'Brahmi’ script?

1. 350 B.C to 450 A.D
2. 250 B.C to 350 AD
3. 300 B.C to 350 AD
4. 350 A.D to 400 AD
Options :
71087056205. 1



71087056206. 2
71087056207. 3
71087056208. 4

Question Number : 132 Question Id : 71087014173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
el foift fory & i feifu g 2

1.350 2.9, 4 450 5.d%
2250359, U 350%. P
3.30059, 93505 d
4.3505.9, 9 400%. db

Options :

71087056205. 1
71087056206. 2
71087056207. 3
71087056208. 4

Question Number : 133 Question Id : 71087014174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in the correct chronological sequence:
A. Alankar Siddhant

B. Auchitya Siddhant

C. Riti Siddhant

D. Dhwani Siddhant

Choose the correct answer from the options given below

1. A B D,C
2B CDA
3.D,B,C A
4.D,C B A
Options :
71087056209. 1
71087056210. 2
71087056211. 3
71087056212. 4

Question Number : 133 Question Id : 71087014174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad il of 98! o Ha § Tull ;
A. 3cipR fgid

8. 3 Fegid

c. 3fd fasia

D. 3+ fagid

i U e faeal # 9 98l SR 9 -

1. A B D,C
2B CDA
3.D,B,C A
4.D,C B A
Options :
71087056209. 1
71087056210. 2
71087056211. 3
71087056212. 4

Question Number : 134 Question Id : 71087014175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The correct chronological order of the following Acharyas is:
A. Bhamah

B. Vaman

C. Kshemendra

D. Anand Vardhan

Choose the correct answer from the options given below

1. A BCD
2B D CA
3.CD,B A
4.C, B, D A
Options :
71087056213. 1
71087056214. 2
71087056215. 3
71087056216. 4

Question Number : 134 Question Id : 71087014175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



49 Sl &1 DIcshH d el 3hH ® g ?
A. HIHTS

B. AFH

C. &HZ

D. 3g g4

i feu 1y famedl & 9 el I 94 -

1. A BCD
2B D CA
3.CD,B A
4.C, B, D A
Options :
71087056213. 1
71087056214. 2
71087056215. 3
71087056216. 4

Question Number : 135 Question Id : 71087014176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"Literature is far away from truth.” Who stated it?

1. Socrates

2. Aristotal

3. Plato

4. Shakespeare
Options :
71087056217. 1



71087056218. 2
71087056219. 3
71087056220. 4

Question Number : 135 Question Id : 71087014176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘B Id U 98d ¢ gidl & U8 ®yd fvgar g2
1 C

Options :

71087056217. 1
71087056218. 2
71087056219. 3
71087056220. 4

Question Number : 136 Question Id : 71087014177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: The tribals lead their lives having faith in nature.

Reason R: They organise nature-worship and nature festival.
Choose the correct answer from the options given below

1. Both A and R are correct

2. Both A and R are incorrect

3. A is correct but R is incorrect
4, A is false but R is true
Options :

71087056221. 1

71087056222. 2

71087056223. 3

71087056224. 4

Question Number : 136 Question Id : 71087014177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tl Sy RUTUE : U B SHHHYH (A) 3R GO DI dd (R) Bel T & |
HHBUA (A) : SGART UPIT W AR IWHR HUAT GG oila- oHaid ddl |
dd (R) : I USpfd ol dUT Upfd Ud &I AR did g |

i f&u ¢ famedl # 9 Wl I g :

4. (A) TR E, (R) FEI B
Options :

71087056221. 1
71087056222. 2
71087056223. 3
71087056224. 4

Question Number : 137 Question Id : 71087014178 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as

Reason R

Assertion A: Religion leads to virtues among human beings.

Reason R: A religious person indulges in crimes and anti-social work.
Choose the correct answer from the options given below

1. A is incorrect, R is correct
2. A is correct, R is incorrect
3. A and R both are correct
4. A and R both are incorrect
Options :

71087056225. 1

71087056226. 2

71087056227. 3

71087056228. 4

Question Number : 137 Question Id : 71087014178 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tl Sy RUTUE : U B SHHHYH (A) 3R GO DI dd (R) Bel T & |
HYEHYA (A) : 45 HHd 5 TN &l [dh dHdl 6|

qd (R) ; UTfH® AfGd STy Ud A G & @&l o

i f&u ¢ famedl # 9 Wl I g :

Options :

71087056225. 1
71087056226. 2
71087056227. 3
71087056228. 4

Question Number : 138 Question Id : 71087014179 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled
as Reason R

Assertion A: Many castes mentioned in vast Vedic literature were like tribes.

Reason R: There is no clear mention of tribes beginning from Ramayan to Mahabharat and
other Epics.

Choose the correct answer from the options given below:

1. A is correct, R is not correct
2. A is not correct, R is correct
3. Both A and R are correct

4, Both A and R are not correct
Options :

71087056229. 1

71087056230. 2

71087056231.3

71087056232. 4

Question Number : 138 Question Id : 71087014179 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e Py RUTU T : U@ & SHUSHYA (A) 3R GO DI dd (R) el 15|
HHHYA () ; [d2a afe® aifew d Sfcaiad &s anfaal 1t SHenia &1 @ |
T (R) : THHEU T HETHRA U4 31 1ol a@ del 4l TP ©U I Siwiid &1 991 Tef [Hadi|

d feu T1u fadedl ¥ 981 IR 9T
nmwﬁﬁ ) TTCTd B

2. (A) I & (R) Fel B

3 cm ?ﬁ?l“fﬂﬁzfié'l

4, ( R) GIHT 7Tad &

Options:

71087056229. 1
71087056230. 2
71087056231. 3
71087056232. 4

Question Number : 139 Question Id : 71087014180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled
as Reason R

Assertion A: Usually, all the tribes live in hills, forests and inaccessible areas.
Reason R: Nature has taught her children to live with freedom.
Choose the correct answer from the options given below

1. A and R both are correct

2. A and R both are incorrect

3. A is correct, but R is incorrect
4 A is incorrect, R is correct
Options :

71087056233. 1

71087056234. 2

71087056235. 3

71087056236. 4

Question Number : 139 Question Id : 71087014180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tl Sy RUTUE : U B SHHHYH (A) 3R GO DI dd (R) Bel T & |
HBY (a) - UTE: Gt STl &1 HfEarg ueTs, Sa d i & J 8|

d (R) : Upfd - 34 Upfa T3l Bl T ol &I UI6 Ul gl

i U e faeal # 9 98l SR 9 -

Options :

71087056233. 1
71087056234. 2
71087056235. 3
71087056236. 4

Question Number : 140 Question Id : 71087014181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled

as Reason R
Assertion A: Language can be refined by those who have full command over that language.

Reason R: Syntax and phrases can be written correctly without command over the language.

Choose the correct answer from the options given below

1. A is incorrect, R is correct
2. Both A and R are correct

3. Both A and R are incorrect
4 A is correct, R is incorrect
Options :

71087056237. 1

71087056238. 2

71087056239. 3

71087056240. 4

Question Number : 140 Question Id : 71087014181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e Py RUTU T : U@ & SHUSHYA (A) 3R GO DI dd (R) el 15|
HYEHYA (A) : HINT & GRHATSH 351 & GR1 &l Fdbdl & D] 39 HIN TR 3T SHfIHR g
TP (R) : U7 35T e o &1 off are famams, geTaR onfe &1 & 9ad B
ﬂ%%@@ﬁw’fﬁﬁﬂﬁaﬂ?gﬁ:

1. (A) 70T B (R) FE1 B

2. (A) 3R aﬁ‘f el gl

3, cm R) GHI Tad 6
ﬂ‘aﬁ% RIGGE]

Optlons :

71087056237. 1

71087056238. 2

71087056239. 3

71087056240. 4

Sub-Section Number : 2
Sub-Section Id : 710870483
Question Shuffling Allowed : Yes

Question Id : 71087014182 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)

Question Label : Comprehension



Read the given passage and answer the questions that follow

There is widespread illiteracy in our country and consequently there is far more Social and
Cultural backwardness. Majority of our population is not even aware of its rights and duties. A
nation becomes strong only when the masses are physically, mentally, economically and
culturally strong. Development of a few people would not make India great. We have to work
for the welfare of every individual. We have to plan comprehensively so that the interests of
every individual are safequarded. It is imperative that decentralisation is promoted so that the
commeon masses can benefit from the scheme.

Sub questions

Question Number : 141 Question Id : 71087014183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The appropriate title of the passage would be :

1. Social and Cultural backwardness.

2. Widespread illiteracy.

3. Rights and Duties

4. Planning in India and Common People.
Options :

71087056241. 1

71087056242. 2

71087056243. 3

71087056244. 4

Question Number : 142 Question Id : 71087014184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Why has our country not become a great nation? One reason:

1. Not many people get employment.
2. Development of very few people.
3. Widespread illiteracy.

4. Cultural deterioration.

Options :

71087056245. 1

71087056246. 2

71087056247. 3

71087056248. 4

Question Number : 143 Question Id : 71087014185 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What do we need to do?

1. To promote literacy.

2. To safeguard culture.

3. To work for the benefit of all.
4, To remove backwardness.
Options :

71087056249. 1

71087056250. 2

71087056251. 3

71087056252. 4

Question Number : 144 Question Id : 71087014186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



How can the benefits of schemes be brought to common people?

1. By eradicating wide-spread illiteracy.

2. By decentralization.

3. By transferring rights to every individual.
4. By making the nation strong.

Options :

71087056253. 1

71087056254. 2

71087056255. 3

71087056256. 4

Question Number : 145 Question Id : 71087014187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Most of the people are not aware of?

1. Their rights and their duties.
2. Their culture.

3. Benefits of the schemes.

4. Backwardness of the country.
Options :

71087056257. 1

71087056258. 2

71087056259. 3

71087056260. 4

Question Id : 71087014182 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension



e fFafafad ufrede 1 vy 1= few 7o st & I difse.

BAR 3X H oAU FRERA &, o aoie ¥ IMifoe 3R Uipia® UesHT agd i &1 8AR
DT A Bl dl 30 ATYBRT AR SHefodi BT 1 4 &1 51 DIg I AP I ASlgd §4d1 8 &fd
HY Sl IRIRS, AFfS, e td URelds €9 3 gudd 8l 3ed I T ai &1 fAs™
YRd @I HeH el S48 | Yds Aidd & Yol & (U 1 &A1 891, 8 U HaieH & &
oI Ue fad o fedl 1 &H 3@ o b | Aadhd] 54 d1d I & [ [qb-5 @0 &l HdS
gg[dl feg1 | oy o1 &l arH YHE S-dl 9 Ugd 9 |

Sub questions

Question Number : 141 Question Id : 71087014183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
39 ¥Jwdc DI JUgad ¥ #1 B ?

1. gHEI® 3R Gipiae [UseuH
2. AUD &R

3. HYPR AR HOA

4, YA H g SR 3y o=
Options :

71087056241. 1

71087056242. 2

71087056243. 3

71087056244, 4

Question Number : 142 Question Id : 71087014184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



THR X &I A8 A8l & &1 T PRUTE ?

1. TS AT B TR Ta! HT
2. TS T Al 31 faerg

3. YD &R

4. TPl DT B4 gIAT

Options :

71087056245. 1
71087056246. 2
71087056247. 3
71087056248. 4

Question Number : 143 Question Id : 71087014185 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T4 TN I 1 B DI AGWGDl § ?

1. TTERT &I S1aT &A1

2. TEpfd BT &1 HAT

3. i & fedl & [T | &
4. TUSSYH &I g DA
Options :

71087056249. 1

71087056250, 2

71087056251. 3

71087056252. 4

Question Number : 144 Question Id : 71087014186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



GTHHG ST ddb dle13 @1 drH $d Jgardl ol Hobdl 6 ?

1. U &R DI GX B

2. TAH-I®HR0 &b GRI

3. U@ AT DI 3T HUBR @
4. Y DI Ao & IR

Options :

71087056253. 1

71087056254. 2

71087056255. 3

71087056256 4

Question Number : 145 Question Id : 71087014187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HYHT TS fhad a7 8l 8 2

1. AU HYBR fR Hdog g
2. AU epia U

3. g B Ay g

4 & UG 9
Options :

71087056257. 1
71087056258. 2
71087056259. 3
71087056260. 4

Sub-Section Number : 3
Sub-Section Id : 710870484
Question Shuffling Allowed : Yes

Question Id : 71087014188 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (146 to 150)
Question Label : Comprehension

Read the given passage and answer questions that follow

There has been a long and rich tradition of worshipping trees, flowers, hills, animals, birds,
rivers and forests in our country. The trees have been accepted as dwelling places of gods and
goddesses in epics and religious books. In Ancient times it was considered a noble act to plant
and protect trees. People used to worship trees and believed that cutting and destroying trees
would invite punishment. That is why our ancient culture is called "Aranya’ culture. In those
days, there was complete scientific and balanced relationship established between man and
nature. The forests were so much identified with the man and the relation between the two
was so sweet that forests were addressed as 'Mother’. This sweet relationship of nature and
man in the lives of the people of Jharkhand is reflected in the Karam and Sarhul festivals.
Nature has merged with our live to such an extant that we cannot imagine our existence away
from nature. We are an integral part of nature. Man and nature are related in the same way as
body and soul are related.

Sub questions

Question Number : 146 Question Id : 71087014189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What will be the appropriate title of this passage?

1. Rich tradition

2. 'Aranya’ culture

3. Planting trees

4. Relationship between man and nature
Options :

71087056261. 1

71087056262. 2



71087056263. 3
71087056264. 4

Question Number : 147 Question Id : 71087014190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What was considered noble work in ancient times?

1. Reading and teaching of Epics.
2. Reading of religious books.

3. To plant and protect trees.

4. Worship of nature.

Options :

71087056265. 1

71087056266. 2

71087056267. 3

71087056268. 4

Question Number : 148 Question Id : 71087014191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Where can the close relationship between man and nature be seen?

1. In forests.

2. In Karam and Sarhul festivals

3. In the lives of people of Jharkhand.
4. In religious books.

Options :

71087056269. 1

71087056270. 2

71087056271. 3

71087056272. 4



Question Number : 149 Question Id : 71087014192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What type of relationship exists between man and nature?

1. Body and Soul

2. Mother and Son
3. Man and Festival
4. Night and Day
Options :
71087056273. 1
71087056274. 2
71087056275. 3
71087056276. 4

Question Number : 150 Question Id : 71087014193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who contributes significantly in saving the existence of man?

1. Religious books

2. Nature

3. Gods and Goddess
4. Epics

Options :
71087056277. 1
71087056278. 2
71087056279. 3
71087056280. 4

Question Id : 71087014188 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)



Question Label : Comprehension

fréw ; Fefafay ufrsse &1 tewy A fRw 7o usi & IR Sifve -

SR X ¥ Us Uyl U8, UeTs, U-uel, SHaR, Afedl o oNft &1 IoH ®1 U o Sk WS
W IE! gl el R Uit Juf o gaff &I cal-cadiel & Hag--d & 9 § WeR el
T g1 U STa J ga TR AR 3T 61 BT AT SIH T ST AT| TR g& &1 gel dvd
Y 3R Gigd ¥ [ 3R % ®Icdl a1 AF &1 af 39 GUS &1 YR 9941 US| 81 PRUT gaR
U T @1 3R Gpid ®el 11 39 T A4 SR UHid & quia: ag1He aul dqfad
Hdey Hrad ar a1 uT| 941 &1 Yy A9 I a1 dIeTd SR TR 61§ [ 38 0 9o ot g3 dl
TS 81 IR@US! 9H-uia- § US(d 3R AMd & 39 T UaY & Hd AR Tgd dieR! & o@r o
gadl & | Upfd 89K Sigd § 39 UbR R ® 11 & fh g9 UPfa I el U 4f&id o dedl
Tl B Yol | Ul & gF HdUsd 31 & | fo goR TR 3R H1d &1 Ydy g, 3 UdR a4
AR Upfd I g

Sub questions

Question Number : 146 Question Id : 71087014189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
39 3Jwse B Jugad X¥e 341 Il ?

1. G W

2. 307 TP fd

3. & T

4, TG 3R UPfd &1 gay
Options :

71087056261. 1
71087056262. 2
71087056263. 3
71087056264. 4




Question Number : 147 Question Id : 71087014190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Ui ®1d § {6l GHid S JET I o ?

1. AETHIAl U3--U6H

2. YT Ul T Us

3. G&1 TIHT 3R 391 & B
4. Upid DI ARTYAT

Options :

71087056265 1

71087056266. 2

71087056267. 3

71087056268. 4

Question Number : 148 Question Id : 71087014191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

M4 3R USq & 9HE 64 B Hel 6@l of IHhdl 6 ?

1. gF-Simal J

2. HYH 3R Wgd dierl §
3. YRGS SH-oflgq o

4, uTids Uy o

Options :

71087056269. 1
71087056270. 2
71087056271. 3
71087056272. 4

Question Number : 149 Question Id : 71087014192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



H-d SR Udhld &l Ga¢ fhd TR @1 5

1. TR 3R ATH BT

2. | R TSI

3. A4 3R Ud-dBR @I
4, 71 AR BA @1
Options :

71087056273. 1
71087056274. 2
71087056275. 3
71087056276 4

Question Number : 150 Question Id : 71087014193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HHd &1 &I g9 o gl Heayul IReH & 2

1. YfH® U &I
2. Upid &1

3. Gdl-Gaarai &1
4, eThIcd] &
Options :
71087056277. 1
71087056278. 2
71087056279. 3
71087056280. 4




